SEARS

OWNERS
MANUAL

Model No.
171.25450

Read and follow
all instructions
carefully.

KEEP THIS
MANUAL FOR
 FUTURE
REFERENCE.

# 83463

CRAFTSMAN.
INDUSTRIAL
DOVETAIL
FIXTURE

o Assembly
o QOperation

IMPORTANT: The following router bits are required

for use with this fixture: #25414-1/4-in. Straight Router Bit and
#25415-9/16-in. Dovetail Router Bit which are used

for THROUGH or OPEN JOINTS.

: #25505 or #26318-1/2-in. Dovetail Router Bit which

are used for all HALF BLIND JOINTS.

Sold by Sears, Rosbuck and Co., Hoffman Estates, 1L 60179




FAILURE TO HEED ALL SAFETY AND OPERATING INSTRUCTIONS
AND WARNINGS REGARDING USE OF THIS PRODUCT CAN RESULT
IN SERIOUS BODILY INJURY

1) KNOW YOUR POWER TOOL

Read the owner's manual carefully. Learn its applications and
limitations as weli as the specific potential hazards particular to
this tool.

2) GROUND ALL TOOLS {UNLESS DOUBLE INSULATED)

If tool is equipped with an approved 3-conductor cord and a 3-
prong grounding type plug, it should be plugged into a three hole
alectrical receptacle. if adapter Is used to accommacate a two-
prong receptacle, the adapter wire must be atiached to known
ground, {usually the screw securing receptacle cover plate).
Never remove third prong. Never connect green ground wire to a
terminal.

3) KEEP GUARDS IN PLACE

—in warking order, and in proper adjustment and alignment.

4) REMOVE ADJUSTING KEYS AND WRENCHES

Form a habit of checking to see that keys and adjusting wrenches
are removed from tool before turning it on.

5) KEEP WORK AREA CLEAN

Cluttered areas and benches invite accidents. Floor must not be
stippery dug to wax or sawdust,

6) AVO1D DANGEROUS ENVIRONMENT

Do not use power tools in damp or wet lecations or expose them to
rain. Keep work area well lighted. Provide adequate surrounding
work space.

7) KEEP CHILDREN AWAY

All visitors should be kept at 2 safe distance from work area.

8) MAKE WORKSHOP CHILD-PROOF

—with padiocks, master switches, or by removing starter keys.
9} D0 NOT FORCE TOOL

It will do the job better and safer at the rate for which it was
designed.

10) USE APPROPRIATE TGOL

Do not force tool or attachment to do a job for which it was not
designed.

11) WEAR APPROPRIATE APPAREL

Do not wear Joose clothing, gloves, neckties or Jewelry (rings,
wristwatches) to get caught in moving parts. Nanslip footwear is
recommended. Wear protective hair covering to contain long hair.
Roll long sleeves above the glbow.

12) USE SAFETY GOGGLES {Head Protection)

Wear Safety Goggles (must comply with ANSt Z87.1) at all times.
Also, use face or dust mask if cutting operation is dusty, and ear
protectors (plugs or muffs) during extended periods of operation.
13} SECURE WORK

Use clamps or a vise to hold work when practical. It's safer than
using your hand and frees both hands to operate tool.

14) DO NOT OVERREACH

Keep proper footing and balance at all times.

15) MAINTAIN TOOLS WITH CARE

Keep tools sharp and clean for best and safest performance. Follow
instructions for lubricating and changing accesscries.

16) DISCONNECT TOOLS BEFORE SERVICING

—when changing accessories such as blades, bits, cutters, efc.

17) AVOID ACCIDENTAL STARTING

Make sure switch is in OFE position befora plugging in.

18) USE RECOMMENDED ACCESSORIES

Consult the owner’s manual for recommended accessories. Follow
the instructions that accompany the accessories. The use of
improper accessories may cause hazards.

19) NEVER STAND ON TOOL

Serious injury could oceur if the tool s tipped or the cutting tool is
accidentally contacted. Do not store materials abave or near the tool
that would make it necessary to stand on the tool to reach them.
20) CHECK DAMAGED PARTS

Before further use of the tool, a guard or other part that is damaged
should be carefully checked to ensure that it will operate properly
and perform its intended function, Check for alignment of moving
parts, binding of moving parts, breakage of parts, mounting, and any
other conditions that may affsct its operation. A guard or ¢ther part
that is damaged should be properly repaired or replaced.

21) DIRECTION OF FEED

Feed work into a blade or cuiter only against the direction of rotation
of the blade or cutter.

22) NEVER LEAVE TOOL RUNNING UNATTENDED

Turn power off, Do not leave tool until it comes te a complete stop.
23) KEEP HANDS AWAY FROM CUTTING AREA

24) STORE IDLE TOOLS

When not in use, tools should be stored in dry, high or locked-up
place—out of reach of children,

25) DO NOT ABUSE CORD

Keep cord away from heat, cil, and sharp edges.

26) OUTDOOR EXTENSION CORDS

When tool is used outdoors, use only extension cords suitabte for
use putdoors, and so marked.

27) NEVER USE IN AN EXPLOSIVE ATMOSPHERE

Normal sparking of the motor could ignite fumes, flammable liguids,
or combustible items.

28) DRUGS, ALCOHOL, MEDICATION

Do nat operate tool while under the influence of drugs, alcohol, or
any medication.

READ AND UNDERSTAND THIS COMPLETE INSTRUCTION BOOK

BEFORE USING THIS PRODUCT



1) Always wear sye protection that complies with current ANSI
Standard Z78.1,

2) Noise levels vary widely. To avoid possible hearing damage, wear
ear plugs or muffs when using the Dovetail Fixture for hours at a
time.

3) Wear a dust mask along with the safsty goggles.

4) Do not use this Dovetail Fixture with router bits or guide
bushings other than those specified for the cuts being made.

§) Follow the instructions in your Router Owners Manual.

6) Vibrations caused by the router during use can cause fastenars
to become loose. Before use and periodically during use check all
fasteners to make sure that they are all tight and secure.

7} Do not use this product until ali assembly installation steps have
baen completed, and you have read and understand all safety and
operational instructions in this manual, and the Router Owners
Manual.

8) Make sure that the router bit is properly positioned in the router
50 that it does not contact the guide bushing or the template when
cutting.

8} The Dovetail Fixture must be securely mounted to a workbench
or other stable surface when in use. The front of the base should
gverhang the front of the workbench by no mare than 1/4" to provide
clearance when clamping workpieces to the Dovetail Fixture.

10) Do not use the Dovetail Fixture ag a work surface. Doing so may
cause damage to the Dovetail Fixture, which can cause it to be unsafe
to use. A workbench should be used for this purpose.

INTRODUCTlBN

ADDITIONAL SAFETY INSTRUCTIONS FOR YOUR
INDUSTRIAL DOVETAIL FIXTURE

11) This product is designed to cut flat workpieces. Da not cut or
atlempt to cut workpieces that are not flat or that are irreguiarly
shaped.

12) This product is to be used for cutting wood workpiaces only. Do
not use this product to cut metal or any other non-wood material.
13) This product has been designed &6 cut workpisces having
thicknesses of 3/8" to 1", Do not use for workpieces of any other
thicknesses.

14) Do not clamp any workpieces to the Dovetail Fixture or make any
adjustments to the Dovetail Fixture unless the router has been turned
off, the router bit is not turning, and the Router has been
disconnected from the electrical outlet.

15) When setting “the-depth-of-cut” of the router bit, make sure that
the workplece is clamped to the Dovetal! Fixture in such a manner
that the router bit does not cuf into the Dovetail base causing
damage to it of possible sericus injury o you.

16) EAwaRRiNG| ALWAYS UNPLUG THE ROUTER FROM THE
ELECTRICAL OUTLET BEFORE INSTALLING OR REMOVING ROUTER
BITS FROM THE ROUTER AND WHEN ADJUSTING THE CUTTING
DEPTH OF THE ROUTER BIT; OR WHEN INSTALLING OR CHANGING
GUIDE BUSHINGS. '

17) NEVER LIFT THE ROUTER UPWARDS WHEN THE ROUTER S
“ON”, THE ROUTER BIT 1S ROTATING, AND THE GUIDE BUSHING 1S
NEAR OR TOUCHING THE TEMPLATE, BECAUSE THIS WILL CAUSE
THE ROUTER BIT TO CUT INTC THE TEMPLATE AND DAMAGE IT.

Yaur Sears/Craftsman Industrial Devetail Fixture is an accessory used with your Router to allow you to make drawers, chests, and the like
where dovetail joints are used to join the front, back, and sides of the workpiece.
« Tha Dovetail Fixture will aliow vou to make 1" spaced flush and flush offset and 3/8" rabbeted half-blind dovetall joints. in addifion you can

make 1" spaged {or open} dovetail joints.
»  Workpisce widths up to 16" can be accommodated.

»  Workpiece thicknesses between 3/8" and 1" can be accommodated,

« The Dovatail Base has six pockets molded into its front which are gauges to aid you in setting the “depth-of-cut” for commonly used
depths: 3/8°, /2", 5/8", 3/4", 7/8", and 1",

s The Dovetail Fixture comes with two templates and two guide bushings for making half-blind and through or open joints.

»  Sears/Craftsman router hits, #25414 and #25415, WHICH MUST BE PURCHASED SEPARATELY, are required to make the THROUGH er
OPEN joints.

+  Sears/Craftsiman router bit, #25505 or #26318, WHICH MUST BE PURCHASED SEPARATELY. is requirad for making the haff-biind joints,

+ Each template has a fabe!, describing the joint that can be cut, along with set up informatian, the bit and guide bushing required, and the
stop block sstting for a particular joint.

+ The Dovetail Fixture can be used with ail Sears/Craftsman Routers.

*  With a separately purchased Sears/Craftsman #25326, Universat Router Adapter, the Dovetail Fixture ¢an be used with many non-
Craftsman Routers, such as, Black & Decker, Makita, and Skil,

UNPAGKING AND CHECKING CONTENTS

In crder to simplify handling and to minimize any damage that may occur during shipping, your Industrial Dovetail Fixture is packaged
unassembled.
» Separate all parts from the packing materials and check each one with the illustrations and list of parts at the end of this manuaf to make
sure that ail parts are present before discarding any packaging material.
LwaskiG| |f any parts are missing or cannot be accounted for, do not attempt to assemble, install, or use the industrial Dovetail Fixture
zmt | the missing parts have been obtained and the product has been assembled correctly.
+  Contact your local Sears Retafl Outlet for a replacement product ar for the missing parts.




ASSEMBLY INSTRUCTIONS

The following tools are required for assembly:
1} A medium sized Phillips screwdriver.
2} Asmall or medium sized adjustable wrench.

ASSEMBLY OF THE RIGHT SIDE TEMPLATE SUPPORT TO THE DOVETAIL BASE

1). Place the dovetail base topside down on a flat surface.

2) Insert one of the 5/16-18 x 2" long round head square neck bolts into the slot in the right side of the base. (NOTE: The right side of the
base Is identified by the words RIGHT SIDE molded into it.)

3) Place a 11/32" 1.D. x 7/8" 0.D. washer onto the bolt as shown in Figure 1.

4) Thread a 5/16-18 hex nut onto the bolt, as shown, until it bottoms out against the washer.

5) Back off the nut from the washer between 1/4 and 1/2 turns. Align the nut so that the corners of the nut are vertically lined up as shown.
Note the alignment of the hex pocket in the template support. The holt should be free to move side to side; if it does not, loosen the nut 1/3
turn or until the corners of the nut peint up and down. )

8) Assemble the right template support to the right side of the dovetail base so that the hex nut lines up and fits into the hex pocket in the
right template support. (NOTE: The right template support has the words RIGHT SIDE molded into it for identification.}

7) Assembie a #10-32 x 5/8" long panhead machine screw, a 13/64" 1.D. x 9/16" 0.D. washer, and a #10-32 hex nut to the base as shown to
hold the template support in place. Securely tighten the nut and screw.

8) The template support should move freely front to back alang the side of the base. If it does not, it means that the 5/16-18 hex nut is too
tight on the bolt and should be loosened. To do this, remove the fasteners assembled in step 7, and remove the tempiate support; repeat steps
4 through 7.

« ASSEMBLE THE LEFT SIDE TEMPLATE SUPPORT TO THE DOVETAIL BASE THE SAME AS THE RIGHT SIDE

TEMPLATE SUPPORT WAS ASSEMBLED

5 10-32 X 58" long PANHEAD MACHINE SCREW
Fig. 1 5/16-18 HEX NUT. ’ RIGHT TEMPLATE SUPPORT
11/32*10. X 7/8" 0.0. WASHER
™ HEXES MUST LINE UP

!,{::’A.@f?..@

' ]
5/16-18 X 2" long ROUND HEAD N7/ . )
SQUARE NECK BOLT @ "" \w 13/64" 1.0. X /16" 0.0. WASHER

\ #10-32 HEX NUT

DOVETAIL BASE~__ @N
IYAVAY,
%/@/ \ BACK OF DOVETAIL BASE




ASSEMBLY OF THE TOP CLAMPING BAR TO THE DOVETAIL BASE

1} Assemble one of the bolt supports to both of the 5/16-18 X 3-1/2" long round head square neck bolts as shown in Figure 2.
) Align the square on the bolf with the square hole in the bolt support. The bolt suppert is to “bottom-out” against the bolt as shown in
Figure 3.

16-18 X 3-172"
FIG.2  YCIXSIZ FiG. 3 FIG. 3a
HEAD SQUARE
NECK BOLT

SPRING T0
BOTTOM
gﬁ?;()ﬁr fggwsr
T3 SURFACE

3) Assemble one of the springs to each of the nylon spring retainers by pushing the spring over the raised cylindrical portion of the
spring retainer as shown in Figure 3a and Figure 3b. '

4} Position the dovetail base on a flat smooth surface so tha back of the base rests on the surface.

NOTE: ALTHOUGH BOTH ENDS OF THE DOVETAIL BASE ARE SHOWN ASSEMBLED IN THE FOLLOWING FIGURES, THE ACTUAL ASSEM-
BLY IS DONE DNE END AT A TIME.

5) From the bottom of the base, insert a bolt with bolt support through the siot in the top of the base so the raised portion of the boit
support goes into the slot, as shown in Figure 4.

: SLOTIN SLOT N
Fig. 4 DOVETAIL DOVETAL BASE  poyeran BOLT AND BOLT

BASE BASE \ M SUPPORT

RIEEE LK 4\%
= o s
7

BOLT AND
BOLT SUPPORT

WO NN N
AN TN N

X

FRONT OF DGVETAIL BASF

6) Place a 5/16" 1.D. X 7/8" 0.D. thick nylon washer over the bolt so that the countersink faces away from the dovetail hase as shown in
Figure 6. it will be necessary for you 1o hoid the boit in place when performing this and the following steps.
HELPFUL HINTS: Position the bolt and the bolt support undar the notch in the rib as shown in Figure 5, to help hoid the bolt in place,

Fly 5 P NOTCH IN RIB

SLOT IN DQVETAIL BASE

"\ BOLT AND BOLT SUPPORT




7) Place a spring and spring retainer, assembled in step 3, over the bolt so the spring fits into the countersink in the thick washer as shown

in Figure 6.

8) Press down on the spring retainer entii just the end of the bolt sticks out past the end of the spring retainer.
9) Slide the clamping bar over the bolt so that the spring retainer abuts the inside of the clamping bar as shown in figure 6. NOTE: THE

SPRING RETAINER MUST PUSH AGAINST THE CLAMPNG BAR.

10) Place an 11/32" 1.D. X 7/8" 0.D. thin nylon washer and an 11/32° 1.D. X 7/8" 0.0, washer over the bolt. it wili be necessary for you to

press down on the clamping bar white doing this.

11} Take one of the clamping knobs and thread it ento the boit as shown. DO NOT THREAD the knob completely onto the bolt—Just enough

s0 the knob holds the clamping bar in place.

CLAMPING

FIG. 6 KNOB  11/301.0. X 7/8" 0.0. WASHER

11/32"1.D. X 7/8" 0.0.
THIN NYLON WASHER

CLAMPING BAR
CLAMPING BAR END CAP

SPRING AND

NYLON SPRING

RETAINER FIT : OPEN SIDE OF THE CLAMPING
INSIDE THE OFEN g N BAR POINTS TOWARD THE TOP
SIDE OF THE SURFACE OF THE DOVETAIL BASE
CLAMPING BAR <

11/32"10. X 7/8" 0.0,

{SEE CLAMPING
THICK NYLON WASHER

BAR DETAIL}

COMPRESSION

SPRING TOP SUREACE OF THE
31/2"BOLT DOVETAIL BASE

BOLT

SUPPORT RIGHT TEMPLATE

SUPPORT

12) Repeat above steps 4 through 11 for the other end of the clamping bar.

Assemble clamping bar, knobs, end caps on both ends as shown

CLAMPING BAR DETAIL
NYLON SPRING RETAINER
11/32° 1.0 X 7/8° 0.0, {RETAINER ABUTS THE

WASHER CLAMPING BAR)

11/32"LD. X 7/8" 0.0.
THICK NYLON WASHER

I
[

CLAMPING BAR (SHOWN WITH
END CUT AWAY AND SECTIONED
SO NYLON SPRING RETAINER
PLACEMENT CAN BE SEEN)

COMPRESSION
SPRING

13) Assemble the end caps to the ends of the clamping bar by pressing them in; they are designed to be *force-fit" into the bar in one way
only. 1t may be necessary to “tap” them in by gently hitting them with a rubber mallet or a piece of wood—since thay fit very tightly into the
clamping bar. USE CARE WHEN DOING THIS SO AS NOT TO DAMAGE THE END GAPS. _

USE CARE THAT THE CAPS ARE PROPERLY ALIGNED AS SHOWN WHEN ASSEMBLING THEM TO THE BAR.

SPACING TO BE
APPROXIMATELY

112

Fig. 7
CLAMFING BAR PARALLEL TO
TOP OF BASE
.t
\ Y
5 % fik Hk X \

(=08a3

14) Tighten the clamping knobs onto the bolts so that the space betwesn the bottom of the clamping bar and the top of the base is about

1 1/2". The clamping bar should be parallet to the top of the base,

15) After completing the above steps your Dovetail Fixture should ook like the illustration in Figure 7.

6



ASSEMBLY OF THE FRONT CLAMPING BAR TO THE DOVETAIL BASE

1) Assemble the front clamping bar to the dovetall basa following the same procedure used to assemble the top clamping bar to the dove-
tail base as shown in Figure 8. The 5/16-18 X 4-1/2" long round head square neck bolts are usad.

Fig. 8

: == ﬁ CLAMPING BAR
OWN WITH
0 2?5.?3 CUT AWAY COMPRESSION
AND SECTIONED SPRING
m SO NYLON SPRING
N\ = RETAINER PLACE-

2\ v MENT CAN BE
Dy — SEEN)

7

DOVETAIL BASE 412" BOLT
: 11/32° 1D, X 7/8" 0.0.
BOLT SUPPORT THICK NYLON WASHER

P

% @\CUMPHESSION SPAING L
—
= CLAMPING BAR Q NYLON SPRING
CLAMPING BAR END CAP : RETAINER

_ (RETAINER
NYLON SPRING 14/32° 10, X 7/8" 0.0, @ ABUTS THE
RETAINER THIN NYLON WASHER . CLAMPING BAR)
CLAVPING KNOB 11/32° 10, X 7/8" 0.D. WASHER

ASSEMBLY OF THE CAM HANDLES AND PIVOT SHAFT TO THE DOVETAIL BASE

After the cam handles and pivot shaft have been assembled to the base, it will be possible to accurately position the templates for cloge
fitting joints, ‘

Note that there are some graduations on both template supports.

Rotating the cam handie so that the pointer lines up with one of the graduations permits accurate front-to-back positioning of the
template.

Cam handles are designed to provide infinite template adjustment.

One graduation equals 1/64" of movement of the template.

Rotating the cam handle so that the pointer lever moves toward the front of the base, causes the ternplate to also move towards the front
of the hase.

Conversely rotating the cam handie so that the pointer lever maves toward the back of the base, causes the template to also move
towards the back of the base also.

1} Assemble one of the cam handles to the pivot shaft using a #10-32 x 5/8" fong panhead machine screw and a 13/64" 1.D. x 916" L.D.
washer. as shown in Figure 9.

2) Uss care so that the pivot shaft fits into the hex-shaped hole in the cam handle. The pivot shaft may fit tightly into the cam handie;
this s normal.

3) Make sure that the pivat shaft bottoms-out inside the cam handle.

CAM HANDLE

13/64° L0, X 9/16° 0.0. WASHER — i - PIVOT SHAFT
= pee=tn =

\ |
AT LN
PANHEAD MACHINE SCREW

Fig. 9




4) Securely tighten the scraw.

NOTE: THE NEXT TWO STEPS ARE PRE-ASSEMBLY STEPS.

5 Slide the retainer over the end of the pivot shaft for about 2°, The retainer may fit tightly: this is normal,

6) Thread the #10-16 x 1/2" long panhead fapping screw into the hole in the retainer until it bottoras-out against the pivot shaft. (The screw
will fit tightly in the hole.) Sse Figure 10.

, #10-16 X 1/2" LONG PANHEAD TAPPING SCREW
Fig. 10

&)
3
Y
———
\*
PIVOT SHAFT

RETAINER

7) Loaosen the screw about one furn, Remove the retainer from the shaft and set it aside temporarily.

8) Assemble the pivot shaft with cam handle to the base by inserting the end of the pivot shaft through the holes in the right template
support and the base.

9) MAKE SURE THE ORIENTATION OF THE CAM HANDLE 1S AS SHOWN IN FIGURE 11,

10) Place the retainer at the location shown in Figure 12 and push the pivot shatt through. THE ORIENTATION OF THE RETAINER RELATIVE
TO THE CAM HANDLE WITH SCREW MUST BE AS SHOWN.

NOTE: THE RETAINER MAY FIT TIGHTLY ON THE PIVOT SHAFT; THIS IS HORMAL.

RETAINER

Fig. 11

RIGHT TEMPLATE SUPPORT

DOVETAIL BASE




11) Continue pushing the pivot shaft through the holes and the retainer until the end.of the pivot shaft extends out of tha left template support
as show in Figure 12,
12) Make sure the end of the cam handile fits into the hole in the base as shown.

Fig. 12

PIVOT SHAFT,
\ / RETAINER

AN NN AN AN

HOLE IN BASE PIOT SHAFT

HOLE IN BASE

LEFT TEMPLATE
SUPPORT

13) With the cam handle pushed in against the base, position the retainer against the side wall of the base, as shown in Figure 13. The retainer
should barely touch the side wall of the base. The purpose of the retainer is to prevent or minimize the side-to-side of the cam handle and
pivot shaft,

RETAINER

-

Fig. 13

PIVOT SHAFT

SIDE WALL OF BASE




RIGHT TEMPLATE
SUPPORT

WASHER

14) Assemble the other cam handle to the other end of the pivot shaft using a 13/64" 1.D. x 916" 0.D. washer and a#10-32 X 5/8" long
panhead machine screw, as shown in Figure 14

15) Make sure that the cam handle lines up with the cam handie at the other end of the pivot shaft and that the end of the cam handle fits into
the hole in the base.

18) Tighten the screw securely. LEFT TEMPLATE SUPPORT

PIVOT SHAFT

Fig. 14 #10-32 X 5/8" LONG

PANHEAD MAGHINE
SCREW

N\ AN
=[OV AN NICNW N Yo

R AT N

N 13/64" 1.0. X 9/16° 0.0. WASHER

CAM HANDLE

17) Rotate one of the cam handles-It should rotate freely and move the template supports,

18) If this does not happen, loosen the screw on the retainer and move the retainer away from the side wall slightly.

19) Secursly retighten the screw.

20) If there is too much side-to-side movement (play) of the cam handies; loosen the screw in the retainer and move the retainer closer to the
side wall of the base.

21) Securely retighten the screw.

ASSEMBLY OF THE FRONT STOP BLOCKS TO THE DOVETAIL BASE

1} Assemble the front stop blocks to the front of the dovetail base, at each end, using #10-32 x 5/8 long fiathead machine screws, 13/64"
1.0. x 9/16" 0.D. washers, and #10-32 hex nuts, as shown in Figure 15.

2) Make sura that the open rib portion fits into the slot in the front of the base. The stop block wil fit into the slot in one position only.

3) Tighten the screw securgly onto the nut.

4) Agsemble the other front stop block to opposite end of the dovetail base in the same manner.

#10-32 HEX NUT

13/684°1.0. X 9/16" 0.0.
WASHER

Fig. 15  FORREASONS OF GLARITY, THE FRONT
CLAMPING BAR, KNOBS, BOITS AND
SPRINGS ARE NOT SHOWN

LEFT TEMPLATE SUPPORT

DOVETAIL BASE
FRONT STOP BLOCK

F10-32 X 5/8" LONG
FLATHEAD MACHINE
SCREW

1364710, X 97167 0.0, #10-32 X 5/8" LONG FLATHEAD

MACHINE SCREW
FRONT STOP BLOCK

10



ASSEMBLY OF THE TOP STOP BLOCKS TO THE DOVETAIL BASE

+ The top stop hlacks are agsembled to the top of the dovetail base in cne of two ways dependi'ng upon which style of dovetail joint is
to be cut:
a)  HALF-BLIND FLUSH JOINTS-—The “A” on the stop block faces toward the "middle of the base”.
b)  HALF-BLIND RABBET JOINTS—The “B" on the stop block faces toward the "middle of the base™.
¢} THROUGH JOINTS—The “A” on the stop block faces toward the “middie of the base”.

+ Since the flush Joint is the more commonly used joint, the following instructions apply to the assembly of the stop blocks for this
style joint.

1) Paosition the dovetail fixture right side up on 4 flat surface.

2) Assembie one of the tap stop blocks to the top surface of the base using a #10-32 x 7/8" long ftathead machine screw, as shown in
Figure 16. The screw threads into the hale in the bottem of the slot.

3) Make sure that the “A” faces the “middle of the base”.

4) Make sure the open rib portion of the stop block fits into the slot in the top surface of the base.

: RIB ON STOP BLOCK: '
Fig. 16 #10-32 X 7/8" LONG FLAT
HEAD MACHINE SCREW

#10-32 X 7/8° LONG FLAT HEAD
MACHINE SCREW

TOP STOP BLOCK: - TOP 5TOP BLOCK

RIB ON STOP BLOCK—

SLOT IN TOF
OF BASE

d. .
SLOTIN T{}P/
OF BASE ™ MIDDLE OF THE BASE

5} Assemble the remaining top stop block to the opposite end of the base in the same mannar.
6) Again make sure that the "A” faces the "middle of the base"
7)
8)

Tighten both screws securely.
To reposition the stop blocks for rabbet joints, simply loosen the screws just enough so that the ribs on the stop blocks come out of the
slot. The stop block is then rotated 180° to the alternate position, so the “B” faces the middle of the base, and securely retighten the screws.

ASSEMBLY OF THE CLAMPING KNGBS TO THE DOVETAIL BASE

1) Assemble 11/32" |.D. x 7/8" 0.D. washers onto the 5/16-18 bolts at both ends of the dovetail base as shown in Figure 17,

2) Assemble the clamping knobs onto the bolts as shown.

3} Thread the clamping krobs onto the bolts so that the spacing between the washer and the template supports is approximately 1/2".
4} Set the dovetail base asids for the time being and continue on with the next section .

ASSEMBLY OF THE TEMPLATES

. + 5/16-18 X 2" long ROUND
Fig. 17 / HEAD SQUARE NEGK

5/16-18 X 2 long ROUND

/ BOLT
HEAD SQUARE NECK BOLT g% [ s — Y 1182410 X 778

0.0. WASHER
C11/32° L0, X 7/8” 0.0, WASHER \ '
[ L CLAMPING
=t @/ mg
CLAMPING /

KNOB 172" SPACING BETWEEN WASHER AND
TEMPLATE SUPPORT (BOTH ENDS)




*Place the template stiffener into the rectanguiar slot in the underneath side of the template, as shawn in Figure 18,

NOTE: THE TEMPLATE FOR CUTTING HALF-BLIND JOINTS IS BEING USED AS AN ILLUSTRATION IN THE FOLLOWING FIGURES.

1} Thread & #8-36 x 3/16" long panhead rnachine screw through each of the five holes in the template and Intg the threaded holes in the
template suppert, as shown in Figure 24 and securely tighten all of the screws.

Fig. 18 TEMPLATE STIFFENER

L\ y Y \ RECTANGULAR SLOT

TEMPLATE

? & 8 ? &

SLOTTED BINDING HEAD
MACHINE SCREW

£8-36 X 3/16" ling PANHEAD
MACHINE SCREW

NOTE: ON SOME EARLY VERSIONS OF THIS PRODUCT, A SLOTTED BINDING HEAD MACHINE SCREW HAS BEEN SUBSTITUTED FOR THE
PANHEAD SCREW SPEGIFIED FOR ASSEMBLING THE TEMPLATE SUPPORTS TO THE TEMPLATES. (SEE THE SCREW ILLUSTRATION IN
FIGURE 18).

2y Assemble the template brackets to the template using four #10-32 x 3/8" long panhead machine screws, as shown in Figure 19.

3y MAKE SURE THAT THE TEMPLATE BRACKETS ARE ASSEMBLED TO THE UNDERNEATH SIDE OF THE TEMPLATE, AS SHOWN IN
FIGURE 19, AND THAT THE ALIGNMENT OF THE BRACKETS 1S ALSO AS SHOWN IN THE FIGURE.

4) 1T 18 NOT NEGESSARY FOR THE SCREWS TO BE TIGHTENED AT THIS STAGE; THE TEMPLATE BRACKETS SHOULD BE FREE T0 MOVE
WITH RESPECT TO THE TEMPLATE OR ELSE 1T WILL NOT BE POSSIBLE TO ALIGN THE TEMPLATE AS DESCRIBED N THE NEXT SEGTION.
5) The assembled template should look like the illustration in Figurs 20.

Fig. 19 103235 0rg PRHEAD ACHRESCREN ~_
TEMPLATE

8) Assemble the template stiffener and the template brackets to the TEMPLATE FOR CUTTING THROUGH JOINTS using the same method
described in the preceding steps 1 through 5. Refer to Figure 20.

Fig. 20




ALIGNMENT OF THE TEMPLATES

+ Inorder for the Dovetail Fixiure to function properly, it Is necessary for the femplates to be aligned with respect to dovetail base. The
reason for this, is that dovetail cuts are at both ends of the Dovetail Fixture. When properly aligned, the result being ail mating corners
will always be lined up.

« NOTE: THE TEMPLATE FOR CUTTING HALF-BLIND JOINTS 1S BEING USED AS AN [LLUSTRATION N THE FOLLOWING FIGURES.

1} With the dovetall base stilf baving the 1/2" spacing between the washer and the tempfate supports (Refer to Figure 17}, assemble the

template assembly to the dovetail 5o that:

a) the slot in the template bracket fits over the bolt,

b} the leg of the tempiate bracket is between the washar and the tempiate support, and

¢) the legs fit into the slots in the template supports, as shown in Figure 21.

d) NOTE: THIS PROCEDURE MUST BE FOLLOWED WHENEVER THE TEMPLATE IS INSTALLED ON THE DOVETAIL FIXTURE. IT 1S MOST

IMPORTANT THAT LEG OF THE TEMPLATE BRAGKET ALWAYS BE BETWEEN THE WASHER AND THE TEMPLATE SUPPORT OR ELSE THE

TEMPLATE WILL NOT BE PROPERLY POSITIONED FOR GUTTING AGCURATE DOVETAILS. For initial setup, Allow the legs of the template

bracket to “bottom cut” in the slots in the template supports as shown in Figure 21.

Fig. 21
RIGHT TEMPLATE SUPPGRT
WASHER
BOIT ) /— SLOT IN THE TEMPLATE SUPPORT
TEMPLATE BRACKET

SLOT IN THE TEMPLATE BRACKET TEMPLATE BRACKET "BOTTOMS-0UT" AGAINST THIS

SURFACE (BOTH ENDS OF DOVETAIL BASE)

» TO REMOVE THE TEMPLATE FROM THE DOVETAIL FIXTURE, LOOSEN THE GLAMPING KNOBS S0 THAT SPACING BETWEEN THE
TEMPLATE BRAGKET AND THE WASHER I3 ABOUT 1/2"; GENTLY LIFT THE TEMPLATE UPWARD FROM THE DOVETAIL BASE SO THAT THE
TEMPLATE BRACKET CLEARS THE SLOTS IN THE TEMPLATE SUPPORT AND STORE IN A GONVENIENT LOCATION.

2) Lightly tighten the ciamping knobs at both ends of the base so that the template hrackets are held in piace against the template supports
as shawn in Figure 21,

3) Move the tempiate from side to side on the tempiate brackets so that it is centered with respect to the template brackets. This means that
the template and bracksts shoold ook like one of the following figures: Figure 22, Figure 23, or Figure 24, Move template front-to-back so that
front edge of tamplate is parallel with the front of the dovetaii base. In each conditicn the template and the fempiate brackets MUST be

- symmetrical with each other, The figures do not show the complete dovetail fixture, but only the underneath side of the temnplate with template
= hrackets correctly positioned, in order that the correct positions of the paris can be seen clearly.

13



TEMPLATE

Fig. 22 DISTANCE BETWEEN THESE SURFACES
W MUST BE EQUAL AT BOTH ENDS
< o
, M TEMPLATE BRACKET
CONDITION ONE: TEMPLATE BRACKETS PROTRUDE BEYOND TEMPLATES
Fig. 23 TEMPLATE
DISTANCE BETWEEN
: THESE SURFACES MUST
BE EQUAL AT BOTH ENDS
< o
M TEMPLATE BRACKET
CONDITION TWO: TEMPLATE PROTRUDES BEYOND TEMPLATES BRACKETS
Fig. 24 \/TEMPLATE
- DISTANCE BETWEEN THESE SURFACES
/
W 7 MUST BE EQUAL AT BOTH ENDS
o ||lo o ]
M \ TEMPLATE BEACKET
J

CONDITION THREE: TEMPLATE EVEN WITH TEMPLATE BRACKETS
14



4} After the template brackets have been correctly positioned on the templata securely tighten the four screws holding the template brackets
to the template.

5) Remova the ternplate assembly from the base and set it aside for now.
B) Align the other template assembly in the same manner.

{T SHOULD BE NOTED THAT YOU MAY FIND, THAT AFTER MAKING SOME SAMPLE CUTS, SLIGHT ADJUSTMENTS MAY BE REQUIRED.
HOW TQ MAKE THESE ADJUSTMENTS IS EXPLAINED 1N TWOQ OF THE FOLLOWING SECTIONS: “MAKING ADJUSTMENTS FOR HALF BLIND
JOINTS" or “MAKING ADJUSTMENTS FOR OPEN (THROUGH) JOINTS",

7} Remove the template assembiy from the base and sat it aside for now. {Fig&m 25 balow, is an example of INCORREGTLY positioned
template brackets.)

Fig. 256 TEMPLATE

TEMPLATE BRACKET ' —— TEMPLATE BRACKET

™) . (" THE TEMPLATE BRACKET EXTENDS
THE TEMPLATE EXTENDS . /| BEYOND THE TEMPLATE
BEYOND THE TEMPLATE ] » ] '
D R

BRACKET

I O 0 e} {0 0

x|

-

CONDITION FOUR. THIS CONDITION 15 NOT CORRECT- -~
TEMPLATE BRACKET EXTENDS BEYOND THE TEMPLATE AND
THE TEMPLATE EXTENDS BEYOND THE TEMPLATE BRACKET

» SIMPLY MAKE SURE BRACKETS ARE POSITIONED THE SAME AT EACH END

ASSEMBLY OF A GUIDE BUSHING TO THE ROUTER

j ALWAYS MAKE SURE THAT THE ROUTER {S “TURNED OFF" AND THAT THE ELECTRICAL CORD HAS BEEN UNPLUGGED
FROM THE ELECTRICAL OUTLET BEFORE ASSEMBLING A GUIDE BUSHING TO THE ROUTER OR MAKING ANY ADJUSTMENTS OR
CHANGING ROUTER BITS IN THE ROUTER.

REMOVE ANY ROUTER BIT FROM THE ROUTER BEFORE PROCEEDING WITH THE ASSEMBLY OF A GUIDE BUSHING TO THE ROUTER.

Assembly for Sears routers with three hole baseplates:
1} Place the'router upside down on a flat surface and rerove any guide bushing that may currently be in the router.
2} Place the guide bushing reguired for the type of dovetail joint to be cut under the router baseplate as shown in Figure 26.

Fig. 26 10-32 X 3/8° LONG FLATHEAD

GUIDE BUSHING ASSEMBLY
MACHINE SCREW

{1/2" DIAMETER SHOVIN)

BASE PLATE

NOTE THE ORIENTATION OF
THE GUIDE BUSHING



3) MAKE SURE THAT THE ORIENTATION OF THE GUIDE BUSHING IS AS SHOWN. :

4} Position the guide bushing so that the three threaded heles in the guide bushing line up with the countersunk holes in the base plate.
5) Thread a #10-32 x 3/8" long flathead machine serew into each on the holes.

B) Securely tighter the screws.

Assembly for Sears 1/2" Shank Industrial Routers Model Nos. 27504, 27505 and 27506 or equivalent:
1} Place the router upsids on a flat surface and remave any guide bushing that may cusrently be in the router.

2} Place the guide bushing in the recessed portion of the router base as shown in Figure 27.

3} Align the cutouts in the guide bushing with the threaded holes in the bass.

4) Thread the two roundhead screws, that came with the router, into the two threaded holes in the hass.

5) Tighten the scraws securgly.

8} FOR ADDITIONAL INFORMATION CONCERNING THIS MATYER, CONSULT YOUR ROUTER OWNERS MANUAL.

QM MAKE SURE THAT THE ROUTER Fig. 27 —— ROUTERBIT
BIT IS ALIGNED WITH OR CENTERED IN THE HOLE
IN THE GUIDE BUSHING. T0 DO THIS, LOOSEN e U o
SCREWS HOLDING BASE PLATE OB ADAPTER o)
PLATE T0 ROUTER, CENTER GUIDE BUSHING HOLE BN
WATH RESPECT T0 ROUTER BIT AND RETIGHTEN TEMPLATE GUIDE ——
SCREWS SECURELY

Assembly for other brands of routers:

iN GRDER TG USE THE DOVETAIL FIXTURE WITH OTHER BRANDS OF ROUTERS, IT WILL BE NECESSARY FOR YOU TO PURCHASE A
CRAFTGMAN UNIVERSAL ROUTER ADAPTER PLATE, MODEL NO. 25326, FROM SEARS, AND REPLACE THE BASE PLATE ON YOUR ROUTER
WITH THE ADAPTER PLATE.

1) Place the router upside on a flat surface and remove any guide bushing that may currently be in the router.
2) Place the guide bushing required for the type of dovetall joint to be cut under the router base plate as shown in Figure 28,
3} MAKE SURE THAT THE ORIENTATION OF THE GUIDE BUSHING IS AS SHOWN,

Fi g. 28 #10-32 X 3/8" LONG FLATHEAD

// MACHINE SCREW

UNIVERSAL ROUTER ADAPTER PLATE

NOTE THE ORIENTATION OF
THE GUIDE BUSHING

GUIDE BUSHING ASSEMBLY-
(142" DIAMETER SHOWN}

MAKE SURE THAT THE ROUTER
BIT IS ALIGNED WITH OR CENTERED IN THE HOLE
IN THE GUIDE BUSHING. T0 DG THIS, LOOSEN
SCREWS HOLDING BASE PLATE OR ADAPTER
FLATE TO ROUTER, CENTER GUIDE BUSHING
HOLE WITH RESPECT TO ROUTER BIT AND
RETIGHTEN SCREWS SECURELY

16



4) Position the guide bushing so that the three threaded holes in the guide bushing line up with the countersunk holes in the adapter plate.
5) Thread a #10-32 x 3/8" long flathead machine screw into each on the holes.
6) Securely tighten the screws.

UNIVERSAL ROUTER ADAPTER PLATE

Fig. 29 NOTE THE ORIENTATION OF
THE GUIDE BUSHING

INSTALLATION INSTRUCTIONS
)

g %gg THE DOVETAIL FIXTURE MUST ALWAYS BE FIRMLY AND SECURELY MOUNTED TD A SOLID AND FIRM WORK
SURFACE, SUCH AS A WORKBENCH, BEFORE USE. FAILURE TO DO S0 COULD CAUSE THE DOVETAIL FiXTURE TO TIP OVER OR SLIDE
ALONG THE WORK SURFACE, RESULTING IN PROPERTY DAMAGE AND SERIGUS PERSONAL INJURY,

MOUNTING THE DOVETAIL FIXTURE TO A WORK SURFACE OR WORKBENCH USING CLAMPS

USING THIS MOUNTING METHOD ALLOWS YOU TO MOUNT THE DOVETAIL FIXTURE SO THAT IT CAN BE EASILY INSTALLED, FOR USE,
AND REMOVED, FOR STORAGE, WITHOUT PERMANENTLY TAKING UP SPACE ON YOUR WORKBENCH

) Make a solid wood mounting board, 327 lung % 6-1/4" wide x 3/4" thick.

) Remeve the template assembly from the base if there is one there currently,

) Drill three 1/8" diameter holes, 3/4" deep into the mounting board as shown in illustration.

) Position the Davetail Fixture on the top of the mounting board so the holes in the base line up with the drifled holes in the mounting board.
5) Secure the Dovetail Fixture to the mounting board using three 13/64* 1.D. x 9/16" 0. D. washers and three #10-16 x 1* long panhead self
tapping screws as shown in Figure 30,

1
2
3
4

T0 THE FRONT OF THE % 178" DIAMETER DRILL HOLE

DOVETAIL BASE ! » -~
e I 2] .._s. N i P ' /
L A \

TO THE FRONT OF THE
DOVETAIL BASE

17



9) Applying a small amount of soap to the screw threads will make it easier to thread the screws into the holes

10) Line up the front of the mounting board with the front of a workbench or other sturdy surface.

11) Using two clamps, such as G-clamps, firmly clamp the Dovetail Fixture to the workbench by clamping an the mounting board as shown in
Figure 31 and Figure 31A.

12) Make sure that the mounting board lines up with the front of the workbench.

Fig. 31
Sé S . 7\ CLAMP HERE
CLAMP HERE %5 - B |
FRONT SUBFACE OF
THE MOUNTING
. BOARD
/2. : Gty e =AY
s et FRONT SURFACE OF
) Ul THE WORKBENCH
Nl o/ \

FRONT SURFAGE OF THE BASE

Fig. 314 | %

(o)
i ® "
— " ?
FRONT SURFAGE OF -
THE BASE /
FRONT SURFACE OF THE
MOUNTING BOARD
FRONT SURFACE OF /

THE WORKBENCH

USING THE DOVETAIL FIXTURE

STYLES OF DOVETAIL JOINTS
+  Four different styles of dovetail joints can be made with the Dovetail Fixture using your router,
« These joints are described in the following sections.

Half Blind Flush Joint:

+  The Half Blind Flush Joint is used whan the height of both the drawer front and the drawer back Is the same height as the drawer sides;
and the length of both the drawer front and the drawer back is the same as the width of the drawer.
See Figure 32,

18



NOTE: THE NORMAL DEPTH OF CUT FOR A HALF BLIND FLUSH JOINT IS 3/8". DRAWER FRONT (PIN PIECE)

, [
Fig. 32
FINS
DRAWER SIDE (TAIL PIECE)
DRAWER SIDE (TAIL PIECE)
TAILS
DRAWER BACK {PiN PIECE)
HALF BILND FLUSH JOINT

Half Blind Flush Offset Joint:
The Half Blind Flush Offset Joint is used when:

The height of both the drawer front and the drawer back is the same height as the drawer sides; the length of the drawer front is 1/8"
fonger (1/16” on a side) than the width of the drawer; and the length of the drawer back is the same as the width of the drawer.
See Figure 33.

* To obtain the offset, cut a 1/16" deep by 3/8" wide rabbet an the cpposite ends on the inside of the drawer front.
NOTE: THE NORMAL DEPTH OF CUT FOR A HALF BLIND FLUSH OFFSET JOINT IS 3/8".

. DRAWER FRONT (PIN PIECE}
/16" OFFSET

PINS

Fig. 33 1/16" OFFSET

DRAWER SIDE (TAIL PIECE)

DRAWER SIDE (TAIL PIECE)

TALS ===—_ :

DRAWER BACK (PIN PIECE)
HALF BILND FLUSH OFFSET JOINT

19



Half Blind Rabheled Joint:

« The Half Blin¢ Rabbeted Joint is used when:
the drawer front overlaps the opening for the drawer on all four sides of the of the drawer opening {top, battom, and two sides) that is;
the length of the drawer front is 3/4" longer {3/8" on a side) than the width of the drawer; the height of the drawer front is also 3/4° higher
(3/8" on side) than the height of the drawer; the length of the drawer back is the same as the width of the drawer; and the height of the
drawer back is the same as the height of the drawer.
See Figura 34.

«  To obtain this joint, cut a 3/8" deep hy 3/8" wide rabbet around the inside periphery of the drawer front.
NGTE: THE NGRMAL DEPTH OF CUT FOR A HALF BLIND RABBET JOINT 18 3/8".

Fig. 34 _
L — 3/8" WIDF RABBET AROUND THE
PERIPHERY OF THE DRAWER FRONT

DRAWER FRONT (PIN FIECE}

DRAWER SIDE (TAIL PIEGE)

DRAWER SIDE (TAIL PIECE)
TAILS

DRAWER BACK (PIN PIECE)
HALF BLIND RABBETED JOINT

Open or Through Joint:

« The Open or Through Joint is similar to the Half Blind Joint except that joint seams are visible an the front, back, and sides of the
workplece; on tha Half Blind Joints, the seams are visible only on the sides of the workpiece.

+ Although this style of joint can be also used for drawers, its most popular use is for making boxes, and small and farge chests.

+  The height of both the front and the back of the drawer or chest is the same as the height as the sides of the drawer or chest;
and the fength of both the front and the back of the drawer or chest is the same as the width of the drawer or chest.
See Figure 35,

NOTE: THE DEPTH OF CUT IS DETERMINED BY THE THICKNESSES OF THE FRONT, BACK AND SIDE PIECES.

+  The front and back piscas (sometimes salled “pin pieces”) are cut independently from the side pleces (sometimes called “tail pieces™}.

«  The “tail pleces” are cut first using one edge of the template and a dovetail router bit. The depth of cut is equal to the thickness of the
“pin pleces”.

- The “pin pieces” are cut next using the other edge of the template and a straight router bit. The depth of cut is equal to tha thickness of the
“tail pisces”. Adjustments are made at this point to obtain joint fit.

Fig. 35

TS FRONT (PIN PIECE)

SIDE (TAIL PIECE)

OPEN [THROUGH) JOINT  BACK (PIN FIECE)
20



ADJUSTING THE DEPTH-OF-CUT Fio. 36
OF THE ROUTER BIT 1. BASEPLATE

LAWAHNNG] AL WAYS MAKE SURF THAT THE ROUTER IS ROUTER BIT
“TURNED OFF” AND THAT THE ELECTRICAL CORD HAS
BEEN UNPLUGGED FROM THE ELECTRICAL QUTLET
BEFORE ASSEMBLING OR REMOVING RCUTER BITS 70
THE ROUTER.

« You will note that there are six pockets along the front
surface of the dovetail base, and that they are identified
by & dimensions such as 3/8, 1/2,~up to 1. These
pockets are used to set the depth-of-cut of a routsr bit.
To use proceed as follows:

. DO NOT USE WITH A TEMPLATE ASSEMBLED

TO THE BASE.

. DO NOT INSTALL ROUTER BITS TO THE
ROUTER UNLESS THE CORRECT GUIDE
BUSHING HAS BEEN ASSEMBLED TO THE
BASEPLATE FIRST.

GUIDE BUSHING

* N MAKE SURE THAT THE ROUTER BIT IS ALIGNED WITH OR CENTERED IN THE HOLE IN THE GUIDE BUSHING. T0 D0 THIS, LOOSEN

SCREWS HOLDING BASE PLATE OR ADAPTER PLATE TO ROUTER, CENTER GUIDE BUSHING HOLE WITH RESPECT TO ROUTER BIT AND RETIGHTEN
SCAREWS SECURELY.

1) Instai the desired router bit to the router as explained in your Router Owner's Manual. See Figure 36.
A MINIMUM ROUTER BIT SHANK ENGAGEMENT OF 3/4" 1S REQUIRED IN THE COLLET OF THE ROUTER.
2) TIGHTEN THE COLLET NUT SECURELY.

3} Position the router over the pockeat with the required depth-of-cut.

Fig. 87

Fig. 37A

><\‘7 POCKET
ROUTER BIT

21



4) Gradually move the router bit outward, by using the depth-of-cut feature an the router, until the tip of the router bit fouches the bottom of
the pocket, as shown in Figure 37 and Figure 37A.
5) Lock the router in position,

ROUTER BIT '
Fig. 38 TEMPLATE \YF] _ DEPTH OF CUT

X - ¥

4 I A I = =2 I I I T I I

BASEPLATE 7

- ) -
8) The desired depth-of-cut has been set.

7) To seta depth-of-cut NOT provided for on the dovetail base, simply place the unused template on the router baseplate,
as shown in Figure 38. The height from the template to the end or tip of the router bit will then e the required depth of cut.

7 ; WHEN SETTING THE DEPTH OF CUT. MAKE ABSOLUTELY SURE THAT THE GOLLET NUT DOES NOT CONTACT (TOUCH) THE GUIDE
BUSHING. THIS CAN CAUSE THE GUIDE BUSHING TO HEAT UP EXGESSIVELY DURING CUTTING WHICH CAN CAUSE DAMAGE TO THE TEMPLATE. TO
CORRECT THIS SITUATION OR PREVENT IT FROM OCCURRING, REPOSITION THE ROUTER BIT IN THE ROUTER. :

CLAMPING THE WORKPIECES TO THE DOVETAIL BASE

INSIDE SURFACE OF DRAWER FRONT

(OR BACK) FACES UP
Fig. 39 WORKPIECE CLAMPED
TO THE TOP OF THE BASE
T0P STOP BLOCK~~c—
WASHER MUST BE CLEAR
OF THE WORKPIECE

A \
FRONT STOP BLOCK @ w \
WASHER MUST BE CLEAR OF
THE WORKPIECES
INSIDE SUBFACE OF DRAWER SIDE— WORKPIECE CLAMPED TO
FAGES 0UT THE FRONT OF THE BASE

—— INSIDE SURFACE

‘6/ TOP STOP BLOCK
3

. WORKPIEGE CLAMPED TO THE TOP OF THE BASE —— ]~
Fig. 40

TOP CLAMPING BAR

WASHER MUST BE CLEAR
OF THE WORKPIEGE
FRONT CLAMPING BAR - W
WASHER MUST BE CLEAR OF THE WORKPIECES U \ - FRONT STOP BLOCK
INSIDE SURFACE . TNy~ WORKPIECE CLAMPED TO

29 THE FRONT OF THE BASE



» The clamping bars have been specially designed to allow the clamping forces fo be applied next to the workpieces for more efficient
clamping. This is accomplished by being able to position the elamping knobs in close proximity or next to the werkpieces,

» Figure 39 illustrates the positioning of the clamping bars and the clamping krobs when the workpieces are ciampecl to the LEFT SIDE of
the Dovetail Fixturs,

= Figure 40 illustrates the positioning of the clamping bars and the clamping knobs when the workpigces are clamped to the RlGHT SIDE of
the Dovetall Fixture.

» Note the closeness of the clamping knobs to the workpieces. When not in use ¢lamping knobs and the sappﬁrimg boEts and sprmgs are
free o be moved along the slots in the basa.

s CAUTION: WHEN CLAMPING, MAKE SURE THAT THE CLAMPING KNOBS ARE NOT POSITIONED SO CLOSE TO THE WORKPIECES THAT
THE WASHERS BEGCOME TRAPPED UNDER THE WORKPIECES.

+ FOR ACCURATE JOINTS, THE WORKPIECES MUST “BUTT-UP” AGAINST BOTH THE TOP AND THE FRONT STOP BLOCKS TO ENSURE
THE EXACT POSITIONING OF THE WORKPIECES.

+ TO ENSURE ACCURATE JOINTS AND SAFE OPERATION, WOCD SHAVINGS AND ACCUMULATED DUST MUST BE REMOVED FROM THE
DOVETAIL FIXTURE REFORE EACH SETUP, EITHER BY USING A BRUSH OR BY VACUUMING.

MAKING DRAWERS WITH HALF BLIND FLUSH JOINTS:

+ The thicknass of hoth the frent and back {pin pieces) must be at least 1/2°, The thickness of the sides (1all pieces} must be at Jeast 3/8",
A partial taif will bg cut for sida (tail piece) thicknesses up to 8/16", This is normal and will not affect the joint or its appearance.

Fig. 41
COBNER #1 CORNER #4
(CUT AT THE LEFT SIDE OF (CUT AT THE RIGHT SIDE OF
X
THE DOVETAIL FIXTURE} THE DOVETAIL FIXTURE) o/ e o 1 NES UP WITH
FRONT STOP BLOCKS
DRAWER FRUNT
SURFACE LINES UP WiTH
FRONT STOP BLOGKS A

%@ /

INSIDE OF DHAWEH

DRAWER RIGHT SIDE \

SURFACE LINES DRAWER LEFT SIDE

UpP WITH T0P
STOP BLOCKS

OUTSICE OF
DRAWER

TAILS

DRAWER BACK
CORNER #2 CORNER #3
(CUT AT THE RIGHT SIDE OF (CUT AT THE LEFT SIDE OF
THE DGYETAIL FIXTURE) THE DOVETAIL FIXTURE)

»  Figure 41 shows a drawer and the workpieces that make it up. This figure is similar to Figure 33, except that it shows the workpieces
unassembled {or an sxploded view of the drawer).

23



 In addition, the figure shows where the four corners of the drawer are cut on the Dovetall Fixture:
CORNERS 1 AND 3 are cut on the LEFT SIDE of the Dovetail Fixture,
CORNERS 2 AND 4 are cut on the RIGHT SIDE of the Dovetail Fixture.
« Trial cuts are strongly recommended using scrap weod to ensure that the final workpneces are of the desired quality.

GENERAL PREPARATIONS:
a) The workpieces comprising the drawer, that is, front, back, left side, and right side should be cut to the proper length, width, and

thickness(es).

MARK "DRAWER FRONT TOP SURFACE” MARK 4"
MARK “1"

Fig. 42

MARK "DRAWER RIGHT
SIDE TOP SURFACE”

MARK "DRAWER FRONT
INSIDE SURFACE"

MARK "DRAWER RIGHT
SIDE INSIDE SURFACE"

MARK "DRAWER BACK
TOP SURFACE”

MARK ‘DRAWER LEFT
SIDE TOP SURFACE"

MARK "2
MARK "DRAWER LEFT

SIDE INSIDE SURFACE
(SHOWN HIDDEN)

\ MARK “DRAWER BACK INSIDE SURFACE”
(SHOGWN HIDDEN)

by Make sure that ail surfaces are smooth and square with each of the other surfaces.
¢} Line up the workpieces on a flat surface, standing on sdge, as shown in Figure 42.
d) With a soft lead pencil mark the front, back, left side, and right side, as shown In Figure 42. This is to aid you in positioning the

warkpieces on the Dovetall Fixture, prior to cutting the dovetails,

40" DIA. GUIDE BUSHING [

SEARS CRAFTSMAN DOVETAIL ROUTER BIT
#25505 OR #26318

24



&) Assemble the .40" guide bushing to the router baseplate, as described in a previous section. This the smaller of the two guide bushings
furnished with this product,

f) Instali Sears dovetail router bit, #25505 or #26318, to the router as described in your Router Owner's Manual. Shank engagement
should be a minimum of 3/4", :

MAKE SURE THAT THE ROUTER BIT IS ALIGNED #iTH OR CENTERED IN THE HOLE IN THE GLIDE BUSHING. T0 DO THIS, LOOSEN
SCREWS HOLDING BASE PLATE OR ADAPTER PLATE TO ROUTER, GENTER GUIDE BUSHING HOLE WITH RESPECT T0 ROUTER BIT AND RETIGHTEN
SCREWS SECURELY,

il WHEN SETTING THE DEPTH OF CUT, MAKE ABSOLUTELY SURE THAT THE COLLET NUT DOES NOT CONTACT (TOUCH) THE GUIDE
BUSHING. THIS CAN CAUSE THE GUIDE BUSHING TO HEAT UP EXCESSIVELY DURING CUTTING WHICH CAN CAUSE DAMAGE TO THE TEMPLATE, T0
CORRECT THIS SITUATION OR PREVENT IT FROM OCCURRING, REPOSITION THE ROUTER BIT IN THE ROUTER,

Fig. 43 LEFT TOP STOP BLOGK "A" FACES TOWARD MIDDLE
OF BASE

“A” FACES TOWARD MIDDLE
OF BASE RIGHT TOP STOP BLOCK
/ / .
AN POINTER POINTS
T = = TO CENTER
O GRADUATION
\@\ =" N
~ \
LEFT FRONT STOP BLOCK RIGHT FRONT STOP BLOCK

¢) Adjust the depth of cut to 3/8" using the depth gauge on the base of the Dovetail Fixture, as described in a previous section,

This setting is approximate and some adjustment may be required.

h} Position both of the top stop blocks so that the “A” faces the “middle of the base” as shown in Figure 43.

i} Paosition the cam handle so that the pointer points to the center graduation as shown in Figure 43,

THE FOLLOWING DESCRIBES THE PROCEDURE TO BE FOLLOWED FOR CUTTING CORNERS 1 AND 3:

1} FOR CORNER #1, position the drawer front on the top of the base so that it lines up with the front of the base and the top surface abuts
the left top stop block. THE INSIDE OF THE DRAWER FRONT FACES AWAY FROM THE TOP OF THE BASE. The words “INSIDE SUREACE”
marked in (d) in the Section, GENERAL PREPARATIONS, should be visibte.

2) Lightly clamp the drawer front in place.

Fig. 44

THE END OF THE DRAWER SIDE
MUST BE LEVEL AND FLUSH WITH
THE INSIDE SURFACE OF THE
DRAWER FRONT (O BACK)

DRAWER FRONT

"INSIDE SURFACE" SHOULD BE
VISIBLE ON THIS SURFACE

TOP OF THEBASE  , AUXILIARY TEMPLATE SUPPORT
/ (AS NEEDED)

¥ - = 3 \\A
\'.
Wi v FRONT OF THE BASE
~ DRAWER RIGHT SIDE
"INSIDE SURFACE" SHOULD BE VISIBLE ON THIS SURFACE

NOTE: WORKPIECES WILL BE POSITIONED ON THE FIXTURE AS SHOWN.
25



3) Position the drawer RIGHT side against the front of the base so that the top surface abuts the left front stop block. THE INSIDE OF THE
DRAWER SIDE FACES AWAY FROM THE FRONT OF THE BASE.

The words “INSIDE SURFAGE” marked in (d) In the Section, GENERAL PREPARATIONS, should be visible.

4) Line up the workpieces so that the end of the drawer sids lines up with the drawer front as shown in Fgure 44.

5) Securely clamp the drawer side to the base.

6) Securely clamp the drawer front to the base,

7} Make sure that the parts remain lined up.

Fig. 45 g 9 DOVETAIL TEMPLATE FOR
" HALF BLIND JOINT
[ ,
\ 1 g Y ’ =T

T

SHORT FINGERS

8) Assemble the DOVETAIL TEMPLATE FOR HALF BLIND JCINTS to the Dovetail Fixture so that THE TEMPLATE BRACKETS FIT BETWEEN
THE WASHERS AND THE TEMPLATE SUPPORTS as shown Figure 45,
NOTE: MAKE SURE THE TEMPLATE CLAMPING KNOBS ARE LOOSE TO MAKE TEMPLATE ADJUSTMENT. AFTER ADJUSTMENT 18 MADE,
RETIGHTEN TEMPLATE CLAMPING KNORBS.
9} Make sure that the short fingers on the template, as shown in Figure 45, faces toward the front of the base,
10) Make sure that the template Is flush and parallel with the workpieces clamped to base. For narrow drawer fronts, the use of an auxiliary
support for the template is recommended. Its purpose is to aid in supporting the router while cutting. It can be made from a piece of serap
wood; but its thickness must be the same as the drawer front. {Refer to Figure 44).
11) Clamp the template in place by tightening the clamping knobs.

BEFORE MAKING ANY CUTS MAKE SURE THAT THE BIT WILL NOT CUT INTO THE BASE OR ANY OTHER COMPONENT OF
L FIXTURE. THIS CAN CAUSE DAMAGE TO THE DOVETAIL FIXTURE; OR LOSS OF CONTROL OF THE ROUTER WHICH CAN
RESULT IN SERIQUS BODILY INJURY. A TRIAL RUN WITH THE ROUTER TURNED OFF AND UNPLUGGED FROM THE ELECTRICAL QUTLET
IS STRONGLY RECOMMENDED.
13) TURN THE ROUTER ON,

Fig. 46 DRAWER FRONT

-~ DRAWER RIGHT SIDE

DOVETAIL CUTS

26



14) Cut the dovetail by moving the router from LEFT TO RIGHT, with the guide bushing fallowing the tempiate. DO NOT FORCE ANYTHING;
MOVE THE ROUTER IN SLOW AND SMODOTH FASHION.

15) To ensure a smooth and uniform joint, retrace the previous cut by moving the router from RIGHT TO LEFT with the guide bushing again
following the template, ’

Ridha NEVER LIFT THE ROUTER UPWARDS WHEN THE ROUTER IS ON AND THE ROUTER BIT ROTATING OR WHEN THE GUIDE
BUSHING IS NEAR TO OR TOUCHING THE TEMPLATE. THIS CAN CAUSE DAMAGE TO THE DOVETAIL FIXTURE; OR LOSS OF CONTROL OF
THE ROUTER WHICH CAN RESULT IN SERIDUS BODILY INJURY.

17} After the cut has been made, the workpieces should look like those illustrated in Figure 46.

Fig. 47 INSIDE SURFACE” SHOULD BE VISIBLE
ON THIS SURFACE

10P OF THE BASE AUXILIARY TEMPLATE SUPPORT
(AS NEEDED)

PN o 1.
<_ il 1A . )
Wi ”?//Fl‘- v FRONT OF THE BASE
«/ .
' “INSIDE SURFACE” SHOULD BE
DRAWER LEFT SIDE VISIBLE ON THIS SURFACE

18} Remove the workpieces from the Dovetail Fixture and check how the workpieces fit together, Some adjustments may be required. Refar to
the section MAKING ADJUSTMENTS.

DRAWER BACK

Fig. 48

— A/ ) 1
=
DRAWER LEFT SIDE
DOVETAIL CUTS

19) FOR GORNER #3, position the drawer back on the top of the base sa that it lines up with the front of the base and the top edge surface
abuts the left top stop block. THE INSIDE OF THE DRAWER BACK FACES UP. The wards “INSIDE SURFACE” marked in {d) in the Saction,
GENERAL PREPARATIONS, should be visible, See Figure 47.

20) Lightly clamp the drawer back in place.

27



21) Position the drawer LEFT side against the front of the base so that the top surface abuts the left front stop block. THE INSIDE OF THE
DRAWER SIDE FACES UP. The words “INSIDE SURFACE" marked in {d) in the Section, GENERAL PREPARATIONS, should be visible.

22) Line up the workpieces so that the end of the drawer side lines up with the drawer back as shown in Figure 47.

23) Continue as in Steps 5 through 16 above,

24) After the cut has been made, the workpieces should look like those fllustrated in Figure 48.

25) Remove the workpleces from the Dovetall Fixture and check how the workpieces fit together. Some adjustments may be required.
Refer to the section MAKING ADJUSTMENTS.

THE FOLLOWING DESCRIBES THE PROCEDURE TO BE FOLLOWED FOR CUTTING CORNERS 2 AND 4:
CORNERS 2 AND 4 are cut in the same way as 1 and 3 except they are positioned on the right side of the Dovetal! Fixture as shown Fig 49.

Fig. 49
“INSIDE SURFACE” SHOULD BE :
| TOP OF THE BASE VISIBLE ON THIS SURFACE
AUXILIARY TEMPLATE SUPPORT \ z .
(AS NEEDED) Par— gé 5‘& r— Cﬁé & == DRAWER BACK
18 JA :
42 O / Fak

1,
A L =
- T "’ i

s e =)

FRONT OF THE BASE - .

DRAWER RIGHT SIDE K V
INSIDE SURFACE" SHOULD BE VISIBLE DN THIS SURFACE T

NOTE: WORKPIECES WILL BE POSITIONED DN THE FIXTURE AS SHOWN.

Z

. [ASIEEREFORE MAKING ANY CUTS MAKE SURE THAT THE BIT WILL NOT CUT INTO THE BASE OR ANY OTHER COMPONENT OF THE

DOVETAIL FIXTURE. THIS CAN CAUSE DAMAGE TO THE DOVETAIL FIXTURE.

FASHTER NEVER LIFT THE ROUTER UPWARDS WHEN THE ROUTER IS ON AND THE ROUTER BIT ROTATING OR WHEN THE GUIDE

BUSHING IS NEAR TO OR TOUCHING THE TEMPLATE. THIS CAN CAUSE DAMAGE TO THE DOVETAIL FIXTURE.

«  After the cut has been made, the workpieces should look like those illustrated in Figure 48.

» The finished front, back, and sides should ook like those In Figure 41.

« Befare gluing the front, back, and sides together some provision must be made for installing the botiem, such as dadoing or culting
a groove around the inside of the drawer parts.

= Your drawer is now ready to be giued fogether,

MAKING DRAWERS WITH HALF BLIND FLUSH OFFSET JOINTS:

~ GENERAL PREPARATIONS:

" 2) The length of the drawer front is 1/8" longer than the fength of the drawer back.

b) When cutting corners 1 and 4; the cam handle Is rotated two graduations toward the hack of the base, thus moving the template 1/32"
toward the back of the base. (Refer to Figure 50).

NOTE: MAKE SURE THE TEMPLATE CLAMPING KNOSS ARE LOOSE TO MAKE TEMPLATE ADJUSTMENT. AFTER ADJUSTMENT IS MADE,
RETIGHTEN TEMPLATE CLAMPING KNOBS.

28



FIG. 50

\\
N B\
N =3
I
Y / POINTER POINTS TO THE SECOND

d e it GRADUATION TOWARD THE BACK

2 | C) g;éfggﬁ%ggfﬁw THE CENTER
| N

¢} When cutting corners 2 and 3; the cam handle is positioned vertically, as shown in Figure 43,
d) Al other GENERAL PREPARATIONS are the same as those used for “MAKING DRAWERS WITH HALF BLIND FLUSH JOINTS”,

"A" FACES MIDDLE OF BASE \\ .~ BACK OF THE BASE
U

THE PROCEDURE FOR CUTTING THESE JOINTS IS THE SAME AS THAT USED FOR "MAKING DRAWERS WITH HALF BLIND FLUSH JOINTS”,

*  After all dovetail cuts have been made, cut a 1/16* deep by 3/8" deep rabbet on opposite ends of the drawer front.

* Tha finished front, back, and sides should loak like those in Figure 33.

* Before gluing the front, back, and sides together some provision must be made for installing the bottom, such as dadeing or cutting a
groove around the inside of the drawer parts. o

*  Your drawer is now ready to be glued together.

*  Remove the pencil markings by light sanding or with a soft eraser after the drawer parts have been glued together.

MAKING DRAWERS WITH HALF BLIND RABBETED JOINTS:

GENERAL PREPARATIONS:
a) The length of the drawer front is 3/4" longer than the length of the drawer hack.

i LEFT TOP STOP BLOCK
ng' 51 “B" FACES TOWARD
"B" FACES TOWARD MIDDLE OF BASE MIDDLE OF BASE
RIGHT TOP STOP BLOCK
7
J POINTER POINTS TO
- CENTER GRADUATION
LEFT FRONT STOP BLOCK RIGHT FRONT STOP BLOCK

29



b} The height of the drawer frant is 3/4" higher than the height of the drawer back and drawer sides.

IT [S EXTREMELY IMPORTANT THAT THE TEMPLATE BE PROPERLY ALIGNED WHEN MAKING THESE JOINTS, OR ELSE, IN -
ADDHTION TO THE JOINT SPACING NOT BEING EQUAL, AS SHOWN IN FIGURE 55 BELOW, THE TOP SURFACES OF THE SIDES, FRONT,
AND BACK WILL NOT "LINE-UP" PROPERLY EITHER. REFER TO THE SECTION “ALIGNMENT OF THE TEMPLATES.

(FIGURE 55 1LLUSTRATES A FLUSH DOVETAIL JOINT.}

Ait other GENERAL PREPARATIONS, except as noted below in the procedure, are the same as those used for "MAKING DRAWERS WiTH

HALF BLIND FLUSH JOINTS",

Fig. 52

DOVETAIL TEMPLATE FOR

; = § h/f,) § HALF BLIND JOINTS
[ !‘r / J
A\ : : e

d &

= 2 \TEMPLATE BRACKET

THE PROCEDURE FOR CUTTING CORNERS 1 AND 4 IS THE SAME AS THAT USED FOR “MAKING
DRAWERS WITH HALF BLIND FLUSH JOINTS” EXCEPT:

Paositien BOTH top stop biocks so that the “B” faces the middie of the base as shown in Figure 51,

Use the side of the template that has the longest fingers.

Before gluing the front, back, and sides together some provision must be made for installing the beltom, such as dadoing or cutling a
groove around the inside of the drawer parts.

Your drawer is now reatly to be glued together.

Remove the pencil markings by light sanding or with a soff eraser after the drawer parts have been glued together.

TROUBLESH{]OTING

If the joint is too loose; INCREASE the depth of cut by INCREASING the amount by which the router bit extends beyond the bassplate by
1/64" 10 1/32" and make a trial cut. Continue adjusting until desired joint fit is attained,

If the joint is too tight: DECREASE the depth of cut by DECREASING the amount by which tha router bit extends beyond the baseplate by
1/64" to 1/32" and make a trial cut, Continue adjusting until desired joint fit is attained.

1 the joint is too shallow: Refer to Figure 53. Loosen the clamping knobs holding the template bracksts and move the tamplate INWARD
half the additional depth needed by turning the cam hancles. Retighten the clamping knabs.

H the joint is too deep; Refer to Figure 54, Loosen the clamping knobs helding the template brackets and move the template QUTWARD
by turning the cam handles half the distance needed. Retighten the clamping knobs.

if the joint is not unifermly spaced from top surface of drawer: Refer to Figure 55. (See the Section "ALIGNMENT OF THE TEMPLATES")
With the template clamped to the base, loosen the four screws securing the template to the template brackets, and move the template
slightly to the left. Tighten the four screws and make a trial cut. If moving the template to the left did not correct the condition, but made it
worse, loosen the screws and move the template to the right a small amount. Tighten the four screws and make a triat cut, Continue
moving the template to the right until the condition is completely corrected. MAKE SURE TO SECURELY TIGHTEN THE FOUR SGREWS.

It moving the template to the left improves the condition, confinue moving the template to the left untit the condition is completely
corrected. Make sure the template remains parallel to the front of the dovetail base, MAKE SURE TO SECURELY TIGHTEN THE FOUR
SCREWS, AFTER THE TEMPLATES HAVE BEFN CORRECTLY REALIGNED, THEY SHOULD REQUIRE NO FURTHER ADJUSTMENTS iF
THEY ARE HANDLED WITH CARE.

30



Fig. 53 DRAWER FHONT\

JOINT IS TOO SHALLOW {
SIDE EXTENDS OUT PAST FRONT
DRAWER LEFT SIDE
DRAWER BACK
[
SIDE EXTENDS OUT PAST BACK
Fig. 54
JOINT IS T00 DEEP DRAWER FRONT
/
BACK EXTENDS
OUT PAST SIDE
DRAWER LEFT Si0E —
DRAWER BACK
/
BACK EXTENDS
OUT PAST SIDE
Fig. 55
JOINT SPACING IS
NOT UNIFORM SPAGING LESS THAN
DRAWER BACK
SPACING GREATER  ~———
THAN DRAWER FRONT
DRAWER BACK— |
/ T DRAWER FRONT
DRAWER LEFT SIDE

31



Fig. 56

SURFACE LINES
UP WiTH FRONT
STOF BLOCKS

PROJECT FRONT CORNER #4
CORNER #1 \ E—

PINS

PROJECT RIGHT SIDE \

INSIDE OF FROJECT »
DUTSIDE GF
PROJECT
SURFACE LINES UP WITH
FRONT STOP BLOCK
\ PROJECT LEFT SIDE
OUTSIDE OF CTLEFTSID
PROJECT
TAILS
CORNER #2 PROJECT BACK CORNER #3

MAKING PROJECTS WITH OPEN (THROUGH) FLUSH JOINTS:

The thickness of both the front and the back {pin pieces) must be between 3/8" and 1",

« The thickness of the sides (tail pieces) must also be between 3/8" and 1",

* Figure 56 shows a project and the workpieces that make it up. This figure is similar to Figure 35, except that it shows the workpieces
unassemblad.

+ Trial cuts are strongly recommended using scrap wood to ensure that the final workpieces are of the desired quality,

GENERAL PREPARATIONS:

a} The workpiaces comprising the project, that is, front, back, left side and right side should be cut to the proper length, width and thick
ness(es).

b} Make sure that all surfaces are smooth and square with each of the other surfaces.

¢) Line up the workpieces on a flat surface, standing on edge, as shown in Figure 57,

d) WITH A SOFT LEAD PENCIL MARK THE FRONT, BACK AND TWO SIDES, AS SHOWN IN FIGURE 57, ALSO. THIS IS TO AID YOU IN
POSITIONING THE WORKPIECES ON THE DOVETAIL FIXTURE, PRIOR TO CUTTING THE DOVETAILS.

;&) Position both of the top stop blocks so that the “A” faces the “middle of the base” as shown in Figure 43.

f) Position the cam handle so that the peintar points to the center graduation as shawn in Figure 43.

32



MARK 4"

MARIC “PROJECT FRONT TOP SURFACE
Fig. 57 MARK 1" \

MARK "PROJECT RIGHT-
SIDE TOP SURFACE”

MARK "PROJECT LEFT
SIDE TGP SURFACE"

MARK "PROJECT FRONT OUTSIDE’
SURFACE" (SHOWN HIDDEN)

MARK “PROJECT RIGHT SIDE OUTSIDE
SLRFAGE™ (SHOWN HIGDEN)

MARK "PROJECT BACK,
TOP SURFACE”

MARK 2"

MARK "PROJECT LEFT
SIDE DUTSIDE SURFACE”

MARK “PROJECT BACK
OUTSIDE SURFACE”

THE FOLLOWING DESCRIBES THE PROCEDURE TO BE FOLLOWED FOR CUTTING THE PROJECT
RIGHT SIDE AND THE PROJECT LEFT SIDE:

HOTE: THESE WORKPIECES MUST BE CUT FIRST BECAUSE ANY JOINT FIT ADJUSTMENTS THAT MAY BE REQUIRED CAN ONLY BE MADE WHEN
CUTTING THE PROJECT FRONT AND PROJECT BACK~THAT IS, THE PROJECT FRONT AND THE PROJECT BACK ARE FIT TO THE PROJECT SIDES.

1) Assemble the 172" guide bushing to the router baseplate, as described in 3 pravious section. This is the larger of the two guide bushings
furnished with this product.

2} Install Sears dovetail router bit, #25414, to the router as described in your Router Owners Manual. Shank engagement shouid be a
minimum of 3/4°, :

MAKE SURE THAT THE ROUTER BIT IS ALIGNED WITH OR CENTERED IN THE HOLE IN THE GUIDE BUSHING. TO DO THIS, LOOSEN
SCREWS HOLDING BASE PLATE OR ADAPTER PLATE TO ROUTER, CENTER GUIDE BUSHING HOLE WITH RESPECT T0 ROUTER BIT AND RETIGHTEN
SCREWS SECURELY,

N WHEN SETTING THE DEPTH OF CUT, MAKE ABSOLUTELY SURE THAT THE COLLET NUT DOES NOT CONTACT (TOUCH) THE GUIDE
BUSHING THIS CAN CAUSE THE GUIDE BLUSHING TO HEAT UP EXCESSIVELY DURING CUTTING WHICH CAN CAUSE DAMAGE T0 THE TEMPLATE. TO
CORREGT THIS SITUATION OR PREVENT IT FROM OCCURRING, REPOSITION THE ROUTER BIT IN THE ROUTER.

1/2 DIA. GUIDE BUSHING E

SEARS CRAFTSMAN DOVETAIL
ROUTER BIT #25414

LI
3} Adjust the depth of cut. The depth of cut for an GPEN DOVETAIL JOINT is equal to the thickness of the mating part. That is:
- FOR CORNER #1 GF THE PROJECT RIGHT SIDE and FOR CORNER #4 OF THE PROJECT LEFT SIDE, THE DEPTH OF CUT iS EQUAL TO
THE THICKNESS OF THE PROJECT FRONT.
FOR CCRNER #2 OF THE PROJECT RiGHT SIDE and FOR CORNER #3 OF THE PROJECT LEFT SIDE, THE DEPTH OF CUT IS EQUAL TO
THE THICKNESS OF THE PROJECT BACK.
Use the depth gauge on the base of the Dovetail Fixture, as described in a pravious section, as a starting point

33



4) At this point it will be necessary for you to make a top back-up board. The reasons for the top back-up hoard are to minimize splintering
and to provide support for the template. The top back-up board is a scrap piece of wood having the following dimensions:
LENGTH: 6" 1o 8", sufficient length 5o that it can clamped by the top clamping bar and be used more than once;

WIDTH; 2° wider than the width of the project sides;
THICKNESS: 1/8" to 1/4" thicker than the thickness of the project sides; this to prevent “ACCIDENTALLY” cutting into the dovetail base.

This can also be accomplished by using more than one piece of scrap as long as the resultant length, width and thickness are as described.
5) TO CUT CORNER #1 OF THE PROJEGT RIGHT SIDE, position the top back-up board on top of the base so that it lings up with the front of
the base and abuts to the right top stop block as shown in figure 58.

NOTE: BACK UP BOARDS ARE USED TO MINIMIZE SPLINTERING OF PROJECT PIECES AND T0 KEEP ROUTER BIT FROM DAMAGING THE

DOVETAIL FIXTURE.

Fig. 58 TOP BACK-UP BOARD
AUXILIARY TEMPLATE TOP OF THE BASE
SUPPORT (AS NEEDED)

PROJECT RIGHT SIDE OR
PROJECT LEFT SIDE

E%?—f}“]"y ©
%) @ ;

: ! AV
— — ?}_"A/
. . o

7
,, — )
FRONT OF THE BASE N\ ,W \ 3
FRONT BACK-UP BOARD U

"OUTSIDE SURFACE™ SHOULD BE VISIBLE ON THIS SURFACE
BEFORE POSITIONING THE FRONT BACK-UP BOARD

B) Lightly clamp the back-up board in place.
7) Position the project side against the front of the base so that the top surface abuts the right front stop block. The use of a frant back-up

board at this step is also recommended. It is positioned between the project side and the clamping bar as shown in Figure 58. The front back-
up hoard should have the following approximate dimensions:

LENGTH: 6" to 8", sufficient length so that it can be clamped by the front clamping bar and be used more than once;

WIDTH: 1" o 2" wider than the width of the sides;

THICKNESS: 1/4" to 1/2".
THE QUTSIDE OF THE PROJECT SIDE FACES AWAY FROM THE FRONT OF THE BASE.

) DOVETAIL TEMPLATE FOR
Fig. 59 OPEN (THROUGH) JOINTS TEMPLATE BRACKET
A W — Y -
CLAMPING KNOBS iddrddd ddiddyi TN

[ S EE

o

ks =

¥, 4
s 7

<>

WASHER




The words “OUTSIDE SURFAGE" marked in (d) in the Section, GENERAL PREPARATIONS, should have baen visible before the front back-up
board was put in place,

8) Line up the workpleces so that the end of the project side and back-up boards line up as shown in Figure 58.

9) Securely clamp the project side and the front back-up board to the front of the base.

10} Securely clamp the top back-up beard to the top of the base.

11) Make sure that the parts remain Hned up.

12) Assemble the DOVETAIL TEMPLATE FOR OPEN (THROUGH) JOINTS to the Dovetall Fixture so that THE TEMPLATE BRACKETS KT
BETWEEN THE WASHERS AND THE TEMPLATE SUPPORTS as shown Figure 59; it will be necessary to loosen the clamping knobs a the ends
of the base to do this.

13} Make sure that the template is orlented as shown in Fig 60.

14} Make sure that the template is flush and parallet with the workpleces clamped to base. For narrow project sides, the use of an auxilfary
support for the template is recommended. Its purpose is to aid in supporting the router while cutting. I can be made from a plece of scrap
wood; hut its thickness must be the same as the top back-up board. (Refer to Figure 58).

FIG. 60 TOP BACK-UP BOARD

FRONT BACK-UP BOARD

PROJECT RIGHT SIDE OR
PROJECT LEFT SIDE

DOVETAIL CUTS

15) iamp the template in place by ghtening the clamping knobs.

AACiARA) BEFORE MAKING ANY CUTS MAKE SURE THAT THE BIT WILL NDT CUT INTO THE BASE OR ANY OTHER COMPONENT OF THE
DOVETAIL FIXTURE. THIS CAN CAUSE DAMAGE TO THE DOVETAIL FIXTURE; OR LOSS OF CONTROL OF THE ROUTER WHICH CAN RESULT
IN SERIOUS BODILY INJURY. A TRIAL RUN WITH THE ROUTER TURNED OFF AND UNPLUGGED FROM THE ELECTRICAL OUTLET IS
STRONGLY RECOMMENDED.

16) TURN THE ROUTER ON.

17) Cut the dovetail by moving the router from LEFT TO RIGHT, with the guide bushing following the template. DO NOT FORGE ANYTHING:
MOVE THE ROUTER IN SLOW AND SMOQTH FASHION.

18) To ensure a smooth and uniform joint, retrace the previous cut by moving the router from RIGHT TO LEFT with the guide bushing again
following the template.

35



NEVER LIFT THE ROUTER UPWARDS WHEN THE ROUTER 1S ON AND THE BOUTER BIT ROTATING OR WHEN THE GUIDE
BUSHING IS NEAR T0 DR TOUCHING THE TEMPLATE. THIS CAN CAUSE DAMAGE TO THE DOVETAIL FIXTURE; OR LOSS OF CONTROL OF
THE ROUTER WHIGH CAN RESULT IN SERICUS BODILY INJURY.

19) After the cut has been made, the workpieces should look like those jllustrated in Fi gure 8§0.

20} Remove the workpiece and back-up boards from the Dovetaif Fixture.

21} The back-up boards can be reused if the cut portions of boards are cut off, AFTER BFING REUSED UNTIL THEY NO LONGER SERVE
THEIR INTENDED FUNCTION, NEW BACK-UP BOARDS MUST BE MADE.

22)70 CUT CORNER #3 OF THE PROJECT LEFT SIDE, position the tap back-up board on top of the base so that it lines with the front of the
base and abuts the right top stop block as shown in Figure 58.

23) Continue as Steps 6 through 20,

24} 70 GUT CORNER #2 OF THE PROJECT RIGHT SIDE, position the top back-up board on top of the base so that it lines up with the front of
the base and abuts the feft top stop block as shown in figure 61,

TOP BACK-UP BOARD

Fig. 61 0P OF THE BASE
-..) AUXILIARY TEMPLATE SUPPORT
n (4S NEEDED)
\
PROJECT RIGHT SIDE OR
PROJECT LEFT SIDE

‘ FAONT OF THE BASE
w FRONT BACK-UP BOARD

"OUTSIDE SURFALE" SHOULD BE VISIBLE
ON THIS SURFACE BEFORE POSITIONING
THE FRONT BACK-UP BOARD

TOP BACK-UP BOARD

Fig. 62

DOVETAIL CUTS

36



25) Lightly clamp the back-up board in place.

26) Position the project side against the front of the base so that the top surface abuts the left front stop block. The use of a front back-up
board at this step is also recommended. 1t is positioned between the project side and the clamping bar as shown In Figure 61. The tront
back-up board is described in Step 7 above.

27) Continue as in Steps 8 through 19 above.

28) After the cuts have been made, the workpieces should look like those illustrated in Figure 62.

29) Remove the workpiece and the back-up boards from the Dovetail Fixture. NGTE: THE BACK-UP BOARDS ARE REUSABLE.

30) TO GUT CORNER #4 OF THE PROJECT LEFT SIDE, position the top back-up board on top of the base so that it fines up with the front of
the base and abuts the left top stop block as shown is Figure &1.

31) Continue as Steps 27 through 32 above,

32) At this stage the project sides should look like those illustrated in Figure 56,

THE FOLLOWING DESCRIBES THE PROCEDURE TO BE FOLLOWED FOR CUTTING THE PROJECT
FRONT AND BACK:

NOTE: Any jaint fit adjustments that may be required can only be made when cutting the project fronf and project back
pieces. That is, adjusiments are made to projecl front and back pieces ONLY not to the side pisces.

40" DIA, GUIDE BUSHING

SEARS CRAFTSMAN STRAIGRT. \
ROUTER BIT #25415

— 7 |

1) Assamble the .40° guide bushing to the router baseplate, as described in a previous section. This is the smaller of the two guide bushings
furnished with this product,

2) Instali Sears straight router bif, #25415, to the router as described in your Router Owners Manual. Shank engagement should be 2
minimum of 3/4",

: 2 MAKE SURE THAT THE ROUTER BIT IS ALIGNED #ITH OR CENTERED IN THE HOLE IN THE GUIDE BUSHING. TO DG THIS, LOGSEN
SCREWS HOLDING BASE PLATE OR ADAPTER PLATE TO ROUTER, CENTER GUIDE BUSHING HOLE WATH RESPECT TO ROUTER BIT AND RETIGHTEN
SCREWS SECURELY.

‘ N . WHEN SETTING THE DEPTH OF CUT, MAKE ABSOLUTELY SURE THAT THE COLLET NUT DGES NOT CONTACT (TGUCH] THE GUIDE
BUSHING THIS CAN CAUSE THE GUIDE BUSHING TO REAT UP EXCESSIVELY DURING CUTTING WHICH CAN CAUSE DAMAGE T0 THE TEMPLATE. TO
CORRECT THIS SITUATION OR PREVENT IT FROM OCCURRING, REPOSITION THE ROUTER BiT IN THE ROUTER,

3) Adjust the depth of cut. The depth of cut for an OPEN DOVETAIL JOINT is equal to the thickness of the mating part. That is:
FOR CORNER #1 OF THE PROJECT FRONT, THE DEPTH OF CUT IS EQUAL TO THE THICKNESS OF THE PROJECT RIGHT SIDE.
FOR GORNER #4 OF THE PROJEGT FRONT, THE DEPTH OF GUT IS EQUAL TO THE THICKNESS OF THE PROJECT LEFT SIDE.
FOR CORMER #2 OF THE PROJECT BACK, THE DEPTH OF GUT 1S EQUAL TO THE THICKNESS OF THE PROJEGT RIGHT SIDE.
FOR CORNER #3 OF THE PROJECT BACK, THE DEPTH OF CUT IS EQUAL TO THE THICKNESS OF THE PROJECT LEFT SIDE.
Use the depth gauge on the base of the Dovetail Fixture, as described in a previous section, as a starting point.
4) At this point it will be necessary for you to make a top back-up board. The reasons for the top back-up board are to minimize splintering
provide suppori for the template and prevent damage fo the Dovetall Fixture. The top back-up hoard is a scrap piece of wood having the
following dimensions:
LENGTH: 6" to 8', sufficient length sa that it can be clamped by the top clamping bar and be used more than once;
WIDTH: 2° wider than the width of the project front (or back};
THICKNESS: 1/8" to 1/4" thicker than the thicknass of the project front {or back); THIS IS TO PREVENT ACCIDENTALLY CUTTING INTO THE
DOVETAIL FIXTURE.
This can also be accomplished by using more than one piece of scrap as long as the resuftant length, width, and thickness are as described.

37



5) TO CUT CORNER #1 OF THE PROJECT FRONT, position the top back-up board on top of the base so that it lines up with the front of the
base and abuts the left top stop block as shown in figure 63.

Fig. 63 TOP BACK-UP BOARD

TOP OF THE BASE AUXILIARY TEMPLATE SUPPORT
{AS NEEDED)

A

PROJECT FRONT OR
PROJECT BACK

{ > Iy "
U \ ?'\ 4 FRONT BACK-UP BOARD

"QUTSIDE SURFACE™ SHOULD BE VISIBLE ON THIS SURFACE
BEFORE POSITIONING THE FRONT BACK-UF BOARD

6) Lightly clamp the back-up board in place.
7) Position the project front {or hack} against the front of the base so that the top surface abuts the left front stop block. The use of a front
back-up board at this step is aise recommended. It is positioned between the project front {or back) and the elamping bar as shown in
Figure 63, The front back-up board should have the following approximate dimensions:
LENGTH: 6" to 8", sufficient length so that it can ctamped by the front clamping bar and be used meore than once;
WIDTH: 1" to 2 wider than the width of the frant {or back});
THICKNESS: 1/4" 1o 1/2",
- THE QUTSIDE OF THE PROJECT FRONT (OR BACK) FACES AWAY FROM THE FRONT OF THE BASE.

Fig. 64

DOVETAIL TEMPLATE FOR
OPEN (THROUGH) JOINTS
; Q%f”@é )

o 7
7 /ni'././l/l/ni/mxl/l/_il/ilﬂl

TEMPLATE
BRACKET

CLAMPING KNOB CLAMPING KNOB

< W% A WASHER

The words "OUTSIDE SURFAGE” marked in (d) in the Section, GENERAL PREPARATIONS, should have been visible before the front back-up
board was put in place.

8) Line up the workpieces so that the end of the project front{or back) and back-up boards line up as shown in Figure 63,

8} Securely clamp the project front{or back) and front back-up board to the front of the base.

10} Securely clamp the top back-up board to the top of the base.

11} Make sure that the parts remain lined up.

12} Assemble the DOVETAIL TEMPLATE FOR OPEN (THROUGH) JOINTS 1o the Dovetail Fixture so that THE TEMPLATE BRACKETS FIT
BETWEEN THE WASHERS AND THE TEMPLATE SUPPORTS as shown Figure 64; it will be necessary io ioosen the clamping knobs at the ends
of the base to do this. .

13) Make sure that the template is oriented as shown in Fig. 64,

38



Fig. 65 TOP BACK-UP BOARD

DOVETARL CUTS DRAWER FRONT OR
DRAWER BACK

14) Make sure that the template is flush and paraliel with the workpleces clamped to base. For narrow projact fronts{or backs), the use of an
auxitiary support for the template is recommended. its purpose is to ald in supporting the reuter while cutting. it can be made from a piece of
scrap wood; but its thickness must be the same as the top back-up board. (Refer to Figure 63).

15) Glamp the template in place by tightening the clamping knabs. . : '
BEFORE MAKING ANY CUTS MAKE SURE THAT THE BIT WILL NOT GUT INTO THE BASE OR ANY OTHER COMPONENT OF THE
DOVETAIL FIXTURE. THIS CAN CAUSE DAMAGE TO THE DOVETAIL FIXTURE.

16) TURN THE ROUTER ON.

17) Gut the dovetail by moving the router from LEFT TO RIGHT, with the guide bushing following the template. DO NOT FORCE ANYTHING:
MOVE THE ROUTER IN SLOW AND SMOOTH FASHION.

18) To ensure a smooth and uniform joint, retrace the previous cut by moving the router from RIGHT TO LEFT with the guide bushing again
foliowing the template.

1) MAKE SURE THAT ALL OF THE MATERIAL IS CUT AWAY; FREE ROUTING MAY BE REQUIRED TO ACCOMPLISH THIS. EXTRA CARE IS
REQUIRED IN CONTROLLING THE ROUTER MOVEMENT WHILE DOING FREE ROUTING. (Refer to Figure 65).

) TOP BACK-UP BOARD
Fig. 66 TOP OF THE BASE

AUXILIARY TEMPLATE SUPPORT. \

(AS NEEDED)

>

FRONT OF THE BASE AY =—_==ﬁpa= N
-UP 80A U
FRONT BACK-UP BOARD oROUECT FRONT OF
"OUTSIDE SURFACE” SHOULD BE VISIBLE ON THIS SURFACE PROJECT BACK

BEFORE POSITIONING THE FRONT BACK-UP BOARD

39



AGKEEN NEVER LIFT THE ROUTER UPWARDS WHEN THE ROUTER IS ON AND THE ROUTER BIT ROTATING OR WHEN THE GUIDE BUSH-
ING IS NEAR TO OR TOUCHING THE TEMPLATE.

20) After the cut has been made, the workpieces should jook fike those illustrated in Figure 665.

21} Remova the workpisce and back-up boards from the Dovetail Fixture,

22} The back-up boards can be reused if the cut portions of boards are cut off. AFTER BEING REUSED UNTIL THEY NO LONGER SERVE
THEIR INTENDED FUNCTION, NEW BACK-UP BOARDS MUST BE MADE,

23) TO CUT CORNER #3 OF THE PROJECT BACK, position the top back-up board on top of the base so that i lines with the front of the base
and abuts the left top stop block as shown in Figure 63.

24) Continue as Steps 6 through 24.

25) TG CUT CORNER #4 OF THE PROJECT FRONT, position the top back-up beard on top of the hase so that it fines up with the front of the
base and abuts the right top stop block as shown in figure 66.

26) Lightly clamp the back-up board in place.

27} Position the project front {or back) against the frant of the base so that the top surface abuts the right front stop block. The use of a front
back-up hoard at this step is alse recommended. It is positioned between the drawer front {or back) and the clamping bar as shown in
Figura 66. The front back-up hoard Is described in Step 7 abave.

28) Continue as in Steps 8 through 20 above.

29) After tha cuts have made, the workpieces should look like those ilustrated in Figure 65.

30) Remove the workpiece and the back-up boards from the Dovetail Fixture. NOTE: THE BACK-UP BOARDS ARE REUSABLE.

31) TG CUT CORNER #2 OF THE PROJECT BACK, position the top back-up board on top of the base o that it linas up with the front of the
base and abuts the right top stop block as shown is Figure 66.

32) Contirue as Steps 28 through 32 abovs,

33) The finished project front, back, and sides should look like those Elustrated in Figure 56.

34} Check how the workpieces fit together. Some adjustments may be necessary. Refer to the Section, MAKING ADJUSTMENTS FOR OPEN
(THROUGH} FLUSH JOINTS

*  Your project is now ready to be glued together,

* Remove the pencil markings by light sanding or with a soft eraser after the parts have been glued together.

TROUBLESHOOTING:

¢ If the joint is too loose: This adjustment can only be made when cutting either the front or the back (pin pieces). Loosen the clamping
knobs holding the template brackets and move the template QUTWARD by turning the cam handles. Continus adjusting until desired joint
fit is aftained. Retighten the clamping knaohs.

° Itthe joint is too tight: This adjustment too can only be made when cutting either the front or the back (pin pieces). Loosen the clamping
knobs hoiding the template brackets and move the template INWARD by tumning the cam handlss. Continte adiusting until desired joint fit
is attained. Retighten the clamping knobs.

*+ If the joint is too shallow: Refer to Figure 67. INCREASE the depth of cut of the router hit. This adjustment can be made when cuiting the
front, the back, {pin pieces) and the sides (tail pieces).

* [tthe joint is too deep: Refer to Figure 68. DECREASE the depth of cut of the router bit. This adjustment too can be made when cutting
the front, the back, (pin pieces) and the sides (ail pieces). :

* lithe joint is not uniformly spaced from top surface of drawer: Refer to Figure 69. (See the Section “ALIGNMENT OF THE TEMPLATES™ )
With the template clamped to the base, {oosen the four screws securing the template to the template brackets, and move the femplate
stightly to the feft. Tighten the four screws and make a trial cut, f moving the template to the left did not carrect the condition, but made it
worse, loosen the screws and move tha template to the right a small amount. Make sure the template remains paraliel to the front of the
dovetail base. Tighten the four screws and make a trial cut. Continue moving the template to the right until the condition is complstely
corrected. PROPER ALIGNMENT OF THE TEMPLATES TO THE TEMPLATE BRACKETS IS GRITICAL FOR JOINT UNIFORMITY. ONCE THIS
15 ACCOMPLISHED GORREGTLY, IT SHOULD NOT NEED ADJUSTMENTS AGAIN. MAKE SURE TO SECURELY TIGHTEN THE FOUR
SCREWS. AFTER THE TEMPLATES HAVE BEEN CORREGTLY REALIGNED, THEY SHOULD REQUIRE NO FURTHER ADJUSTMENTS IF
THEY ARE HANDLED WITH CARE.

40



Fig. 67 PROJECT FRONT / FRONT EXTENDS OUT PAST SIDE
JOINT IS TOO SHALLOW
SIDE EXTENDS OUT PAST FRONT
PROJECT LEFT SIDE
PROJECT BAGK
[ 2
| > SIDE EXTENDS OUT PAST BACK
BACK EXTENDS OUT PAST SIDE
. . SIDE EXTENDS OUT PAST FRONT
Fig. 68 PROJECT FRONT
/ / 4
JOINT IS T00 DEEP O
‘ &> FRONT EXTENDS OUT PAST SIDE
i
Wy
PROJECT LEFT SIDE
' PROJECT BACK
/ -
[ BACK EXTENDS OUT PAST SIDE
SIDE EXTENDS OUT PAST BACK
Fig. 69 FRONT (PIN PIECE)
~ ; SPACING GREATER THAN BACK

JOINT SPACING IS NOT EQUAL

SIDF (TAIL PIECE) /

BACK (PIN PIECE) SPACING LESS THAN FRONT

41



PARTS [IST for #{71.25450 INDUSTRIAL DOVETAIL FIXTURE

KEY|QTY| PART NO. DESCRIPTION

J l 29LD-879 DOVETAIL BASE

2 [ 29LD-880 DOVETAIL TEMPLATE, HALF BLIND JOINT

3 I 29LD-83]1 DOVETAIL TEMPLATE, OPEN (THROUGH) JOINT

4 I 29LD-882 TEMPLATE SUPPORT (RIGHT SIDE)

B | 29LD-883 TEMPLATE SUPPORT (LEFT SIDE)

6 2 29LD-884 CAM HANDLE

1 2 29LD-885 FRONT STOP BLOCK

8 2 29LD-886 TOP _STOP BLOCK

9 4 29LD-887 CLAMP ING BAR END CAP

o I 29LD-888 RETATNER

I 4 29LD-889 BOLT SUPPORT

{2 6 29LD-890 CLAMPING KNOB

13 ] 2 29LD-891 CLAMPING BAR

(411 291.b-892 PIVOT SHAFT

15 | 4 29LD-895 TEMPLATE BRACKET

|6 2 29.D-896 TEMPLATE STIFFENER

|7 I 29.D-899 GUIDE BUSHING ASSEMBLY (.40° DIAMETER)

18 ; 29LD-900 GUIDE BUSHING ASSEMBLY (1/2" DIAMETER)

19 4 28LD-901 COMPRESSION SPRING i

20 f 45A-350 PRODUCT LABEL (CLAMPING BAR)

2! I 45A-351 LABEL (TEMPLATE-BLIND)

22 I 45A-352 LABEL (TEMPLATE-OPEN

23 J 45A-353 WARNING LABEL (CLAMPING BAR)

i 49LD-50 INSTRUCTION MANUAL
| NONE BAGGED FASTENERS-CONSISTING OF

24 | 4 29L-469-13 |#10-32 X 5/8" 1g. PANHEAD MACHINE SCREW
25 | 8 29L-469-14 [#10-32 X 3/8" 1g. PANHEAD MACHINE SCREW
26 | 10 29L-469-15 |#8-36 X 3/16" Ig. PANHEAD MACHINE SCREW
27 2 29LD-841-2 i#10-32 X 5/8" 1g. FLAT HEAD MACHINE SCREW
28 1 2 29LD-841-3 [#10-32 X 7/8" lg. FLAT HEAD MACHINE SCREW
29 3 29LD-841-4 |#10-32 X 3/8" Ig. FLAT HEAD MACHINE SCREW
30 | 29L-684-6 #10-16 X 1/2" lg. PANHEAD TAPPING SCREW
31 3 29L-684-7 #10-16 X |" Ig. PANHEAD TAPPING SCREW

321 2 29A-310-15 |5/16-18 X 4-1/2" |g. ROUND HEAD SQUARE NECK BOLT
331 2 29A-310-76 |5/16-18 X 3-1/2" lg. ROUND HEAD SQUARE NECK BOLT
34 | 2 29A-310-17 45/16-18 X 2" lg. ROUND HEAD SQUARE NECK BOLT
351 4 29A-242-12  |#10-32 HEX MACHINE SCREW NUT '

36 2 29A-242-13  |5/16-18 HEX MACHINE SCREW NUT

31 9 29A-306-37 |13/64"1.D. X 9/16"0.D. X 3/64"thick WASHER
381 8 29A-306-40 |11/32"1.D. X 7/8"0.D. X I/16"thick WASHER
38 4 29LD-930 [1/32"1.D. X 7/8"0.D. THIN NYLON WASHER
49 4 29LD-969 S5/16"1.D. X 7/8"0.D. THICK NYLON WASHER
41 4 29LCN-1005  INYLON SPRING RETAINER

42




43






° o ® e

////////////////// /
_IJJJJJJJIIIIJIJJJJ %

STttt §
ﬁ’ \ // m};\‘\ ) i\N\i\l\i\“\\l\\\i\\\l\“‘\\\\\\\)\i\l\l‘i\‘\i\!\“ _
| , :

\

I\ ‘

m\l\

R

\\“"m\“!\l\l\\\l\\“\\\“‘\l\‘\“\

\

e

Il \“\\\\\\\\\\\\\\\\

A i
il |\\\\\ l\!\\\l\\\\\\\\“\\\

435



Notes

46



Notes

47



T

481060

MANUAL

Prinied in U.SA.
9/96
29LMD-50

When corresponding, always give the following
information as shown in the list.

1. The PART NUMBER

2. The PART DESCRIPTION

3. The MODEL #171.25450

4. The ITEM NAME-INDUSTRIAL DOVETAIL FIXTURE




